



EXERCISE – I
GENERAL ORGANIC CHEMISTRY

Q.1 
The inductive effect -


(1) implies the atom's ability to cause bond 

polarization


(2)
increases with increase of distance


(3)
implies the transfer of lone pair of electrons 

from more electronegative atom to the 

lesser electronegative atom in a molecule


(4)
implies the transfer of lone pair of electrons 

from lesser electronegative atom to the 

more electronegative atom in a molecule

Q.2
In which of the following compound is hydroxylic proton the most acidic -


(1) 

[image: image1.emf] 

F   O  

H  


(2) 

(3) 
[image: image3.emf] 

F  

O   H  


(4) 
[image: image4.emf] 

F  

O  

H  


Q.3
Which among the given acid has lowest pKa value -


(1) Chloroacetic acid 
(2) Bromoacetic acid


(3) Nitroacetic acid
(4) Cyanoacetic acid

Q.4
Arrange basic strength of the given compounds in decreasing order -


(a) CH3–CH2–NH2



(b) CH2=CH–NH2

(c) CHC–NH2


(1) a > b > c
(2) a > c > b



(3) c > b > a
(4) b > c > a

Q.5
Consider following acid


ClCH2COOH,    CH3COOH,  CH3CH2COOH


     I
                           II                     III


Correct order of their pH value will be -


(1) III < II < I
(2) I < II < III


(3) I < III < II
(4) II < I < III

Q.6
Which is most acidic compound –


(1) C2H5COOH
(2) CH3CH2CH2COOH


(3) CH3COOH
(4) HCOOH 
Q.7
Which of the following groups has the highest 
+ I effect -


(1) CH3 –
(2) CH3CH2 –


(3) (CH3)2 CH – 
(4) (CH3)3 C –

Q.8
Maximum –I effect is exerted  by the group


(1) C6H5 –
(2) – OCH3

(3) Cl
(4) NO2
Q.9
Zero inductive effect is exerted by - 


(1) C6H5 –     
(2) H
  


(3) CH3 –      
(4) Cl

Q.10
Pair of groups exerting (–I) effect is


(1) –NO2 and –CH3



(2) –NO2 and –Cl


(3) –Cl and –CH3



(4) –CH3 and –C2H5

Q.11
Mesomeric effect is the resonance of -


(1)  electrons only 


(2)  electrons only


(3)  and  both


(4) (+) ve and (–) charge.

Q.12
Mesomeric effect takes part in -


(1) Saturated system 




(2) Unsaturated system containing conjugated double bond. 



(3) Unsaturated system containing non conjugated double bond. 


(4) A triple bond in a carbon chain
Q.13
Arrange their Acidic strength



     
[image: image5.emf] 

OH  

I  

H 2 O  

II  

C 2 H 5 OH  

III  

   



(1) I > II > III
(2) II > I > III



(3) III < II > I
(4) II < III < I

Q.14
Arrange the following in Increasing of their 
basicity


HO​–,           CH3COO–                Cl–


   I
                II 
             III


(1) III > II > I
(2) III < II < I



(3) II < III < I
(4) II < III > I

Q.15
Consider following benzyl alcohol 


 
[image: image6.emf]  CH 2 OH  

                  
[image: image7.emf] 

CH 2 OH  

NO 2  



      I
   II



[image: image8.emf] 

CH 2 OH   OCH 3  

                 
[image: image9.emf] 

CH 2 OH   Cl  





       III                          IV


Correct order of their Kb value is -  


(1) III > IV > II > I
(2) III > I > IV > II


(3) I < II < III < IV
(4) IV > II > I > III

Q.16
Which of the following pairs of structures do not represent  resonating structures -


(1) 
[image: image10.emf] 

CH 3   –  C  –  CH 3          ;  

O  

CH 3   –  C = CH 2    

OH  



(2) 
[image: image11.emf] 

O    ;  

O      

  

  


(3) 
[image: image12.emf] 

CH 3   –  C  –  CH 3          ;  

 O H  

CH 3   –  C  –  CH 3     

OH  

  



(4) 
[image: image13.emf] 

CH 3   – C – OH      ;  

CH 3 – C=OH    

O  

O  

  


Q.17
Which of the following pairs represent resonating structures -


(1) ClCH2CH=CHCH3 and  

[image: image14.emf]  CH 2 =CH – CH – CH 3  

Cl  



(2) 
[image: image15.emf] 

:CH2–NN: and CH2=N=N 

 

 

..  



(3) CH3–CN and CH3–N 
[image: image16.emf] 

C


(4) All the above

Q.18
The order of stability of the following resonating structures is -


[image: image17.emf] 

CH 2 =CH – CH     CH 2 – CH=C – H   

O  

O  

CH 2 – CH=CH          

O  

 

(I)   ( II )  

( I I I )  

 



(1) II > I > III
(2) I > III > II


(3) I > II > III
(4) III > II > I

Q.19
Most stable carbocation is -


(1) 
[image: image18.emf] 

CH2=CH 

 

 
(2) 
[image: image19.emf] 

CH2=CH–CH2 

 



(3) 
[image: image20.emf] 

CH 2   

 


(4) 
[image: image21.emf] 

CH 3  

 


Q.20
Which of the following is most stable - 


(1) 
[image: image22.emf] 

CH3 

 


(2) CH3–
[image: image23.emf] 

CH 2  

 



(3) CH3–
[image: image24.emf] 

CH 



–CH3 
(4) CH2=CH–
[image: image25.emf] 

CH2 




Q.21
Which of the following is most stable carbocations - 


(1) 
[image: image26.emf] 

CH 3  

 


(2) CH3–
[image: image27.emf] 

CH 2  

 



(3) 
[image: image28.emf] 

CH3–C  

O  

 


(4) 
[image: image29.emf] 

CH 3 – C –  

CH 3    

CH 3    

CH 2  

 

 

Q.22
Which of the following is least stable 
carbocations -


(1) CH2=
[image: image30.emf] 

CH 




(2) CH3–
[image: image31.emf] 

CH 2  

 



(3) 
[image: image32.emf] 

CH3 

 


(4) Ph
[image: image33.emf] 

CH2 

 


Q.23
Which of the following is most stable -


(1) 
[image: image34.emf] 

CH3 


(2) CH3–
[image: image35.emf] 

C – CH 3  

CH 3  



(3) F–
[image: image36.emf] 

C – F    

F  


(4) Cl –
[image: image37.emf] 

C – Cl    

Cl  

 

Q.24
 
[image: image38.emf] 

C H 2  

NO 2  

is more stable than 
[image: image39.emf] 

C H 2  

NO 2  

 because

       (I)
                     (II)


(1) 180º location of NO2 and 
[image: image40.emf] 

CH2 

in I 


(2) –NO2 opperate both –I and –M in I. 


(3) –I in II  is weaker than I 

(4) Due to steric hinderance 

Q.25
Which of the following is most stable -


(1) 
[image: image41.emf] 

CH3 


(2) CH2=
[image: image42.emf] 

CH 



(3) CH
[image: image43.emf] 

C  


(4) CH3–C
[image: image44.emf] 

C  


Q.26
Consider the following carbocations -


(a) 
[image: image45.emf] 

CH 3 O  

C H 2  

 



(b) 
[image: image46.emf] 

C H 2  

 

 


(c) 
[image: image47.emf] 

CH 3  

C H 2  

 



(d) CH3–
[image: image48.wmf]Å

2

CH



The relative stabilities of these carbocations are such that-

(1) d < b < c < a
(2) b < d < c < a


(3) d < b < a < c
(4) b < d < a < c

Q.27
Least stable carbanion is -

(1) HC
[image: image49.emf] 

C 


(2) 
[image: image50.emf] 



(3) CH2=
[image: image51.emf] 

CH 


(4) CH​3–
[image: image52.emf] 

CH2 


Q.28
Arrange the following  nucleophiles in the order of their nucleophilic strength -


(1) HO–  > CH3COO– > CH3O– > C6H5O–


(2) CH3COO– < C6H5O– < CH3O– < HO–

(3) C6H5O– < CH3COO– < CH3O– < HO–



(4) CH3COO– < C6H5O– < HO– < CH3O–
Q.29
Which of the following carbocation is most stable-

(1) 
[image: image53.emf]   

CH 2  


(2) 
[image: image54.emf] 

 

CH 2  

CH 3  



(3) 
[image: image55.emf] 

  CH 2  

O H  


(4) 
[image: image56.emf] 

  CH 2  

NO 2  


Q.30
Which one of the carboanions is most stable-


(1) 
[image: image57.emf] 

CH 2  

NO 2  


(2) 
[image: image58.emf] 

CH 2  

NO 2  



(3) 
[image: image59.emf] 

CH 2  

 

 CN  

 
(4) 
[image: image60.emf] 

CH 2  

 

 CN  


Q.31
Arrange stability of the given carbocations in decreasing order –



[image: image61.emf] 

CH 2  

  

OCH 3  

      
[image: image62.emf] 

CH 2  

   OH  

        
[image: image63.emf] 

CH 2  

   NH 2  

      
[image: image64.emf] 

CH 2  

   Cl  




         
      I                II               III            IV


(1)  I > II > III > IV
(2)  III > II > I > IV


(3) IV > I > II > III
(4)  II > III > I > IV 

Q.32
In the anion HCOO–, the two carbon-oxygen bonds are found to be equal length. What is the reason for it –


(1)
the C=O bond is weaker than the C–O bond


(2)
the anion HCOO– has two resonating structures


(3)
the electronic orbitals of carbon atom are hybridized


(4)
the anion of obtained by removal of proton from the acid molecule

Q.33
      
[image: image65.emf] 

OH  

NO 2  

        
[image: image66.emf]  OH  

NO 2  

          
[image: image67.emf] 

OH  

NO 2  


   


             I                        II                           III


Arrange following phenol in increasing order of Pka value -


(1) I < II < III
(2) III < I < II



(3) III < II < I
(4) I < III < II

Q.34
What is the decreasing order of strength of the bases, 
[image: image68.emf] 

OH 

,   
[image: image69.emf] 

NH2 

 ,   
[image: image70.emf] 

H–CC 

,    
[image: image71.emf] 

CH3CH2 

- 



    (I)       (II)         (III)           (IV) 

(1) IV > II > III > I
(2) III > IV > II > I


(3) I > II > III > IV
(4) II > III > I > IV

Q.35
Hyperconjugation occur due to overlaping of-


(1)  M.O. with 's'


(2) 'p' orbital with 

(3)  M.O. with  M.O.


(4) None
Q.36
The stability of given free radicals in decreasing order is -


(a) CH3–
[image: image72.emf] 

CH 2  

.  


(b) CH3–
[image: image73.emf] 

CH  

.  

–CH3


(c) CH3–
[image: image74.emf] 

C – CH 3  

CH 3  


(d) 
[image: image75.emf] 

CH 3  

.  



(1) c > d > a > b



(2) a > b > c > d


(3) c > b > d > a



(4) c > b > a > d

Q.37
Correct order of stability is -


(1) CH2=CH2 > CH3–CH=CH2 > (CH3)2C=CH2 


(2) CH2=CH2 < CH3–CH=CH2 < (CH3)2C=CH2 


(3) CH2=CH2 < (CH3)2C=CH2 < CH3–CH=CH2   


(4) CH3–CH=CH2 < CH2=CH2 <  (CH3)2C=CH2

Q.38
Rank the following radicals in order of 
Decreasing stability -


  
[image: image76.emf] 

       
[image: image77.emf] 

       
[image: image78.emf] 

      
[image: image79.emf] 


 
      I                  II               III             IV


(1) III > II > I > IV
(2) III > II < I < IV


(3) II > III > II > IV
(4) III < II < I < IV

Q.39
Arrange the Stability of following -


 
[image: image80.emf] 

           
[image: image81.emf] 

           
[image: image82.emf] 





     I                    II
            III


(1) I < II < III
(2) II < I < III



(3) I < III < II
(4) II < III < I

Q.40
Which of the following substituents will decrease the acidity of phenol -


(1) –NO2    (2) –CN
(3) –CH3     (4) –CHO

Q.41
Hyperconjugation is possible in which of the following species -


(1) 
[image: image83.emf] 

CH 3 – CH 2  


(2) C6H5–CH3


(3) CH2=CH2
(4) 
[image: image84.emf] 

CH 3 – C – CH=CH 2  

CH 3  

CH 3  


Q.42
Which of the following carbonium ions will show highest number of hyperconjugation forms -


(1) 
[image: image85.emf] 

CH 3 – CH 2  

  

 
(2) 
[image: image86.emf] 

CH 3 – CH  

  

CH 3  



(3) 
[image: image87.emf] 

CH 3 – C  

CH 3  

CH 3  

  


(4) 
[image: image88.emf] 

CH 3 – CH 2 – C  

CH 3  

CH 3  

  


Q.43
Which of the following substituted carboxylic 



acids has the highest Ka value -


(1) 
[image: image89.emf]  CH3–CH2–CH–COOH 

Cl  



(2) 
[image: image90.emf]  CH3–CH–CH2–COOH 

Cl  



(3) 
[image: image91.emf]  CH 2 – CH 2 – CH 2 – COOH  

Cl  



(4) 
[image: image92.emf]  CH3–CH–CH2–COOH 

Br  


Q.44
Which is more acidic than phenol -


(1) 
[image: image93.emf] 

O H   CH 3  


(2) 
[image: image94.emf] 

O H   OH  



(3) 
[image: image95.emf] 

O H   NO 2  


(4) All the above

Q.45
Choose the most stable Carbocation


(1) CH3–CH=CH–
[image: image96.emf] 

CH2 





(2) CH2=CH–
[image: image97.emf] 

CH 

 

–CH3

(3) CH2=
[image: image98.emf] 

C 



–CH2–CH3



(4) CH2=CH–CH2–
[image: image99.emf] 

CH2 




Q.46
Which of the following is wrong about resonance -


(1) Resonating structures having same energy have same contribution



(2) All resonating structures have same number of unpaired electron.



(3) All resonating structures have same number of bond pair electrons. 



(4) All resonating structures have same amount of net charge. 

Q.47
Which of the following effect does not stabilises carbanion -



(1) – I effect



(2) – M effect



(3) Hyper conjugation 



(4) All the above 

Q.48
Which of the following statement is correct about arrow headed 'C' of  
[image: image100.emf] 




(1) Negative charge is delocalised due to sp2 hybridisation 



(2) sp2 hybridised but (–)ve charge is localised.



(3) sp3 hybridised and (–)ve charge is not delocalised.



(4) sp3 hybridised and (–)ve charge is delocalised.

Q.49
Charge on carbon free radical is - 



(1) Zero 


(3) Positive



(3) Negative 


(4) All of these

Q.50
Which of the following is not the resonance contributor for phenoxide ion -


(1) 
[image: image101.emf] 

O  

 


(2) 
[image: image102.emf] 

O  

 


(3) 
[image: image103.emf] 

O  

 


(4)  
[image: image104.emf] 

O  

 


Q.51
Consider the following ions -



[image: image105.emf] 

F < Cl < Br < I  

I   II   III  

IV  





Increasing order of nucleophilicity in polar solvent will be -



(1) I < II < III < IV
(2) II < I < IV < III


(3) IV < III < II < I
(4) III < IV < II < I
Q.52
Most stable carbonium ion in the following will be -


(1) 
[image: image106.emf] 

 

 


(2) 
[image: image107.emf] 

 

 


(3) 
[image: image108.emf] 

CH 2  

 

(4)  
[image: image109.emf] 

 


Q.53
Which of the following is not correct statement -


(1) 
[image: image110.emf] 

NH2 

is a stronger base


(2) 
[image: image111.emf] 

CCl3 

 is more basic than 
[image: image112.emf] 

CF 3  



(3) NH2OH is less basic than NH3

(4) 
[image: image113.emf] 

CH  C  

 is less basic than 
[image: image114.emf] 

CH 2 = C H  


Q.54
Which one of the following is strongest 
acid -


(1) 2-chloropentanoic acid


(2) 3-chloropentanoic acid

 
(3) 5-chloropentanoic acid


(4) 4-chloropentanoic acid

Q.55
Which has localized ve charge -


(a) 
[image: image115.emf] 

NH 3  

 



(b) 
[image: image116.emf] 

C H 2  

 



(c) 
[image: image117.emf] 

C H 2  

 

CH 3  


(d) 
[image: image118.emf] 

H 2 N  –  C = NH 2  

NH 2  

 



(1) a, d

(2) a, c


(3) c, d

(4) b, d
Q.56
Most powerful leaving group in following–


(1) 
[image: image119.emf] 

NH2 

 
(2) 
[image: image120.emf] 

HO  

 


(3) 
[image: image121.emf] 

CH3 

 
(4) 
[image: image122.emf] 

F  


Q.57

[image: image123.emf] 

H – C – OH  

. .  

. .  

O  

:  

:  

(I)  

H – C=OH  

. .  

O  

:  

:  

 

. .  

(II)  

H – C – OH  

. .  

. .  

O  

:  

:  

(III)  

H – C – OH  

. .  

O  

:  

:  

 

(I V )  

 

. .  

. .  

. .  



Increasing order of stability is–


(1) I < III < II < IV 



(2) IV < III < II < I

 
(3) III < IV < II < I 



(4) II < IV < III < I

Q.58
Consider the following three halides -


(A) CH3–CH2–Cl


(B) CH2=CH–Cl


(C) C6H5–Cl


Arrange C–Cl bond length of these compound in decreasing order -


(1) A > B > C
(2) A > C > B


(2) C > B > A
(4) B > C > A

Q.59
Arrange the following in increasing basic strength-


(a) CH3NH2
(b) 
[image: image124.emf] 

NO 2 – C – NH 2  

NO 2   NO 2  

. .  

 


(c) Cl–CH2–NH2
(d) –CH2–NH2


(e) NH3

Correct answer is -


(1) (a) < (b) < (c) < (e) < (d) 


(2) (a) < (b) < (c) < (d) < (e)


(3) (b) < (c) < (d) < (e) < (a) 


(4) (c) < (b) < (e) < (d) < (a)

Q.60
Which one of the carbanions is most stable? 


(1) 
[image: image125.emf] 

NO 2  

CH 2  

  
(2) 
[image: image126.emf] 

CH 2  

NO 2  



(3) 
[image: image127.emf] 

CN  

CH 2  


(4) 
[image: image128.emf] 

CH 2  

CN  


Q.61
What is the correct increasing order of bond lengths of the bonds indicated as I, II, III and IV in following compounds -



[image: image129.emf] 

I 

II   III  

IV  



(1) I < II < III < IV 
(2) II < III < IV < I


(3) IV < II < III < I
(4) IV < I < II < III

Q.62
Most stable carbocation is -



(1) 
[image: image130.emf] 

CH 3 – CH 2  

 

 


(2) 
[image: image131.emf] 

CH 2 CH Cl 2  

 

  



(3) 
[image: image132.emf] 

CH 2 CH 2 Cl  

 

 


(4) 
[image: image133.emf] 

CH 2 – CH 2 NO 2  

 


Q.63
In which compound delocalisation is not possible -


(1) 2-Butene



(2) 1, 3-Butadiene


(3) 1, 3, 5-Hexatriene
(4) Benzene
Q.64
Consider the following compound :


[image: image134.emf] 

CH2=CH–CH=CH2 1  

2  

3  

4  




carbon-carbon bond length between C2 and C3 will be -



(1) 1.54 Å








(2) 1.3 Å



(3) Less than 1.54 and greater than 1.33 Å




(4) 1.21 Å

Q.65
In pyridine ; 
[image: image135.emf] 

N  

..  

 Number of conjugated electrons are -


(1) 6




(2) 8



(3) zero




(4) 5

Q.66
Which is the decreasing order of acidity in,



HCOOH (I), CH3COOH(II), CH3CH2COOH(III) and C6H5COOH(IV) -



(1) I > II > III > IV



(2) IV > III > II > I



(3) IV > I > II > III



(4) I > IV > II > III

Q.67
Consider the follownig carbocations -



(a) 
[image: image136.emf] 

CH 3 – CH 2  

 

 


(b) 
[image: image137.emf] 

CH 2 =C H  

 

  



(c) 
[image: image138.emf] 

CH 2 = CH – CH 2  

 



(d) 
[image: image139.emf] 

C 6 H 5 – CH 2  

 




Stability of these carbocations in decreasing order is -



(1) d > c > a > b


(2) d > c > b > a




(3) c > d > b > a


(4) c > d > a > b

Q.68
Consider the following compounds -



[image: image140.emf] 

N H 2   (a)  

NH 2   (b)  

NO 2  

NH 2   (c)  

Cl  

NH 2  

( d )  

CH 3  



   
Arrange these compounds in decreasing order of their basicity :



(1) a > b > c > d






(2) b > c > a > d




(3) d > a > c > b






(4) d > a > b > c

Q.69
Which free radical is the most stable -



(1) 
[image: image141.emf] 

C 6 H 5 – CH 2  



(2) 
[image: image142.emf] 

CH 2 =CH – CH 2  






(3) 
[image: image143.emf] 

CH 3 – CH – CH 3  


(4) 
[image: image144.emf] 

CH 3 – C – CH 3  

CH 3  


Q.70
Which carbocation is the most stable -



(1) 
[image: image145.emf] 

CH 2  

CH 3  

 

 



(2) 
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CH 2  

OH  

 

 





(3) 
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CH 2  

Cl  

 

 



(4) 
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CH 2  

NO 2  

 

 

Q.71
Electromeric effect -



(1) comes into play at the demand of attacking reagent 



(2) involves displacement of electrons in a sigma bond 



(3) comes into play in the molecule when at least one atom has unshared pair of electrons



(4) involves the distortion of the electron cloud

Q.72
Which statement is correct for electromeric effect -


(1) It is a temporary effect 




(2) It is the property of  bond



(3) It takes place in presence of reagent,  i.e., electrophile or nucleophile 



(4) All are correct 

Q.73
The number of electrons present in the valence shell of carbon of 
[image: image149.emf] 

CH 3 CH 2  

 

 ion bearing +ve charge : 












(1) 8



(2) 7





(3) 6



(4) 4

Q.74
Which of the following is most stable alkene ? 

(1) 
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H  
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(2) 
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CH3 
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H  

H  

H  

 


(3) 
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C 2 H 5  

C = C  

H  

H  

H  

 


(4) 
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CH  

H  

H  

H  

CH 3  

CH 3  


Q.75
Homolytic fission of a hydrocarbon will 
liberate -


(1) Carbonium ions
(2) carbanions


(3) free radicals
(4) carbenes

Q.76
Heterolytic fission of carbon-chlorine bond produces -



(1) two free radicals



(2) two carbonium ions



(3) two carbonions


(4) one cation and one anion
Q.77
In CH3CH2OH,  the bond that undergoes heterolytic cleavage most readily is  -



(1) C—C
(2) C—O



(3) C—H
 (4) O—H

Q.78
Which of the following is heterocyclic aromatic species ?

(1) 
[image: image154.emf] 

O  



(2) 
[image: image155.emf] 



(3) 
[image: image156.emf] 

O  



(4) 
[image: image157.emf] 

N  

H  


Q.79
The hybridisation of saturated carbanion is -

(1) sp3 
(2) sp2


(3) sp 
(4) All of these 

Q.80
Carbanion of CH3 
[image: image158.emf] 

CH2 

 has geometry -


(1) Planar
(2) Pyramidal


(3) Squar bipyramidal
(4) All of the above
Q.81
Hybridisation of R – 
[image: image159.emf] 

CH2 

•  

is - 


(1) sp3
(2) sp2


(3) sp 
(4) All of these
Q.82
The enolic form of acetone contains -

(1) 9 sigma bonds, 1 pi bond and 2 lone pairs


(2) 8 sigma bonds, 2 pi bonds and 2 lone pairs


(3) 10 sigma bonds, 1 pi bond and 1 lone pair


(4) 9 sigma bonds, 2 pi bonds and 1 lone pair

EXERCISE – II
HALOALKENES

Q.1
Select the alkane which forms four isomeric dihalo derivatives -

(1) Isobutane
(2) Propane


(3) Neopentane
(4) Ethane

Q.2
Which of the following hydrocarbon with formula C8H18 gives one monochloro derivatives –


(1) n-Octane


(2) 3-Methyl heptane


(3) 2, 2, 4 - Trimethyl butane


(4) 2, 2, 3, 3 - Tetramethyl butane

Q.3
Which of the following statement is correct -

(1) Decreasing order of density of alkyl halides is RI > RBr > RCI > RF

(2) The stability order of alkyl halides is 
RF > RCl > RBr >RI

(3) Among isomeric alkyl halides the decrease in boiling point 1º > 2º > 3º

(4) All are correct
Q.4
Which statement is not correct -

(1) Polyhalides are lighter than water

(2) Halo alkanes have higher boiling points as compared to those of corresponding alkanes

(3) Halides are soluble in organic solvents

(4) None

Q.5
An alkyl halide is insoluble in water because-


(1) Alkyl halide is non polar & H2O is polar


(2) Both are polar

(3) Alkyl halide does not form hydrogen bond with water

(4) Alkyl halide has halogen atom in it

Q.6
The correct order of polarity of alkyl halides is : -


(1) RI > RBr < RCl > RF




(2) RF > RCl > RBr > RI


(3) RCl > RF > RBr > RI




(4) None of these

Q.7
Which chloride is the most reactive towards aqueous NaOH in -


(1) Methyl chloride
(2) Isopropyl chloride


(3) Vinyl chloride
(4) Benzyl chloride

Q.8
The SN2 reactivity order for halides :-


(1) R - F > R - Cl > R - Br > R - I



(2) R - I > R - Br > R - Cl > R - F


(3) R - Br > R - l > R - Cl > R - F



(4) R - Cl > R - Br > R - F > R - I

Q.9
In SN1 reaction, the first step involves the formation of : -


(1) Free radical
(2) Carbanion



(3) Carbocation
(4) Final product

Q.10
The rate law for the reaction, RCl + NaOHaq.)  ROH + NaCl is given by, rate = K1 [RCl]. The rate of the reaction will be : -

(1) Doubled on doubling the concentration of sodium hydroxide

(2) Halved on reducing the concentration of alkyl halide to half

(3) Decreased on increasing the temperature of the reaction

(4) Unaffected by increasing the temperature of the reaction

Q.11
Which of the following statements is invalid-

(1)
The more stable the carbocation the faster it is formed

(2)
Propyl cation changes to more stable isopropyl carbocation by 1,2 shift of a hydrogen

(3)
Isopropyl chloride reacts with sodium ethoxide to form 1-ethoxypropane

(4)
All the above

Q.12
Which of the following reaction is the most common among alkyl halides -


(1) Nucleophilic addition




(2) Nucleophilic substitution


(3) Electrophilic addition




(4) Electrophilic substitution

Q.13
When an alkyl halide reacts with an alkoxide, the product is -


(1) Ether 

(2) Ester


(3) Hydrocarbon
(4) Alcohol

Q.14
2-Bromobutane on heating with alcoholic  alkali forms -


(1)  - Butylene only




(2)  - Butylene only


(3) 20% of -Butylene+ 80% of -Butylene


(4) 80% -Butylene + 20% -Butylene

Q.15
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Identify A, B & C -


(1) Ethylalcohol, Ethyl chloride & Ethane


(2) Ethane, Ethylchloride & CH3–CH2–OH

(3) Propane, Propylchloride & CH3–CH2–CH2–OH


(4) All the above

Q.16
An alkyl halide reacted with a metal cyanide to give an alkanenitrile. The metal cyanide is -


(1) AgCN

(2) KCN



(3) Cu2(CN)2
(4) Ba(CN)2
Q.17
Ethylthioalcohol can be obtained when C2H5Br reacts with -


(1) KSH

(2) NaOH



(3) K2S

(4) Na2S

Q.18
Which one of the following reaction is known as strecker's reaction -


(1) R - X + NaI  R - I + NaX



(2) R - X + Na2SO3  R - SO3Na + NaX


(3) RCOOAg + Br2  R - Br + AgBr + CO2

(4) None of the  above

Q.19
The given reaction is called as -


C2H5ONa + BrC2H5  C2H5–O–C2H5 + NaBr


(1) Frankland reaction


(2) Wurtz reaction


(3) Williamson’s synthesis


(4) Cannizzaro reaction

Q.20
Reaction of ethyl chloride with sodium leads to -


(1) Ethane

(2) Propane


(3) n-Butane
(4) n-pentane

Q.21
An alkyl halide reacts with metallic sodium in dry ether, the reaction is known as -


(1) Frankland’s reaction




(2) Sandmeyer’s reaction


(3) Wurtz’s reaction




(4) Kolbe’s reaction

Q.22
When ethyl bromide is treated with moist Ag2O the product is –


(1) Ethyl ether
(2) Ethanol



(3) Ethoxy ethane
(4) All of the above

Q.23
When propylene reacts with HBr in presence of peroxide, the product formed is -


(1) n-Propyl alcohol



(2) Propylene peroxide



(3) n-Propyl bromide


(4) 1,3-Dibromo propene

Q.24
In reaction 


C2H5OH + HX  
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the order of reactivity of HX is -


(1) HBr > HI > HCl
(2) HI > HCl > HBr

(3) HCl > HBr > HI
(4) HI > HBr > HCl

Q.25
Which of the following leads to the formation of an alkyl halide -


(1) C2H5OH 
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(2) C2H5OH 
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(3) C2H5OH 
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(4) All the above

Q.26
Which halide/halides not prepared by Darzen reaction -


(1) R–Cl

(2) R–Br


(3) R–I

(4) (2) & (3) both

Q.27
Which reaction is termed as Darzen’s Reaction -


(1) ROH + HCl
(2) ROH + PCl5

(3) ROH + SOCl2
(4) ROH + PCl3

Q.28
In the Hunsdiecker reaction -


(1) Number of carbon atoms decrease



(2) Number of carbon atoms increase


(3) Number of carbon atoms remain same


(4) None of the above

Q.29
Silver benzoate reacts with bromine in acetone to form -


(1) 
[image: image167.emf]   

Br  



(2) 
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COBr  



(3) 
[image: image169.emf]   



(4) 
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COOAg   Br  


Q.30
In Finkelstein Reaction, which reactants are 
used - 


(1) NaI + C2H5OH




(2) NaCl + acetone


(3) NaBr + CH3COCH3



(4) NaI + CH3COCH3
Q.31
C2H5Cl + AgF C2H5F + AgCl


The above reaction is called -


(1) Hunsdiecker
(2) Swart


(3) Strecker

(4) Wurtz

Q.32
The general molecular formula of dihaloalkanes 
is -


(1) CnH2n+1X
(2) CnH2n+2X2



(3) CnH2nX2

(4) CnH2n–2X2
Q.33
A vicinal dihalide is not formed in the reaction-


(1) HOCH2–CH2OH 
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(2) CH3–CH = CH2 
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(3) CHCH 
[image: image173.wmf]HBr

¾

®

¾



 EMBED CorelEquation  [image: image174.wmf]HBr

¾

®

¾



(4) CH3–CH=CHBr 
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Q.34
A gem dichloride is formed in the reaction 
except -


(1) CH3CHO and PCl5



(2) CH3COCH3 and PCl5



(3) CH2=CH2 and Cl2



(4) CH2=CHCl and HCl

Q.35
2,2–dichloropropane on hydrolysis yields -


(1) Acetone

(2) 2,2-Propane diol


(3) Isopropyl alcohol
(4) Acetaldehyde

Q.36
Propylidene chloride when heated with zinc 
gives -


(1) Ethene

(2) Propene



(3) 1-Butene
(4) 3-Hexene

Q.37
Ethylene amine is the substitution product of -


(1) Ethylene chloride
(2) Gem dihalide



(3) Both of these
(4) None of these

Q.38
CHCl3 is kept in brown bottles well stoppered and also with 1% alcohol so that it may not form -


(1) CH2Cl2

(2) COCl2



(3) CCl4

(4) None of these

Q.39
Chloroform can be obtained from -


(1) Methanol 
(2) Methanal



(3) 1-Propanol
(4) 2-Propanol

Q.40
Which of the following statement is wrong -

(1)
All carbonyl compounds of the general structure 
[image: image176.emf] 

CH3–C–R O  

 give a positive iodoform test
(2)
All secondary alcohols give iodoform reaction

(3) Alkanols of the structure CH3CH(OH)–R (where R=H, alkyl or aryl) give iodoform reaction

(4)
The only aldehyde giving iodoform reaction is acetaldehyde.

Q.41
The oxidation of CHCl3 by air & light is prevented by adding -


(1) CH3COOH
(2) C2H5OH



(3) CH3CHO
(4) CH3COOCH3
Q.42
Tear gas is -


(1) C(NO2)Cl3
(2) COCl2



(3) CH3Cl

(4) CH3COCl

Q.43
Hoffmann's isocyanide reaction involves the intermediate formation of -


(1) :CCl2

(2) CH3

(3) 
[image: image177.emf] 

CH3 



(4) CCl3
Q.44
Chloroform when treated with aniline and alcoholic KOH forms -


(1) Phenyl cyanide
(2) Phenyl isocyanide


(3) Phenyl cyanate
(4) Phenyl isocyanate

Q.45
Iodoform test is not given by : -


(1) CH3COCH2COOC2H5



(2) CH3COCH3




(3) CH3CH2COCH3



(4) CH3CH2CHOHCH3

Q.46
2-methyl butanoic acid is formed by the reaction CHCl3 , NaOH and –


(1) Propene

(2) Ethene


(3) Methane

(4) 2-Butene

Q.47
Main product of which of the following reactions shows zero dipole moment -


(1) CH3OH, PCl5

(2) C2H5OH, OH¯, Cl2


(3) CHCl3, Cl2, hv



(4) CHI3, Zn, HCl

Q.48
What happens when CCl4 is treated with AgNO3 -


(1) A white ppt. of AgCl will be formed


(2) Nothing will happen


(3) NO2 will be evolved




(4) CCl4 will dissolved in AgNO3
Q.49
CCl4 + 4koh — end product of the reaction is-

(1) K2CO3

(2) CO2



(3) C(OH)4

(4) HCOOK
Q.50
Catalyst used in the formation of dicholorodifluoromethane is generated from -


(1) AlCl3 + HF
(2) SbCl5 + HF

(3) SbCl4 + HF
(4) BF3 + HF

Q.51
CH3CHI2 
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Here the end product would be -


(1) 2-Cyano propionic acid



(2) Ethane-1,1-dicarboxylic acid


(3) 2-Methyl ethanoic acid


(4) Propionic acid

Q.52
Industrial preparation of chloroform employs acetone and -


(1) Phosgene




(2) Calcium hypochlorite



(3) Chlorine gas



(4) Sodium chloride

Q.53
The elimination of HX from an alkyl halide forms an alkene. The order of the elimination reaction 
is -


(1) 3º halide > 2º halides > 1º halides


(2) 1º halide > 2º halides >3º halides


(3) 1º halide = 2º halides > 3º halides


(4) 2º halide > 1º halides > 3º halides

Q.54
A 
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Here A is nothing but -


(1) Isopropyl alcohol
(2) Methanol



(3) Ethanoic acid
(4) n- Butyl alcohol

Q.55
Of the following, which is an SN1 reaction -


(1) (CH3)3CBr + H2O –––––



(2) CH3CH2CH2Cl + I– –––––


(3) (CH3)3CBr + CN– –––––


(4) CH3CHBrCH3 + KOH(alc.) –––––

Q.56
In the reaction,



C2H5OH + HX  
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the order of reactivity of HX is -


(1) HBr > HI > HCl
(2) HI > HBr > HCl


(3) HI > HCI > HBr
(4) HCl > HBr > Hl

Q.57
CH3Br 
[image: image182.wmf]KCN

¾

®

¾

¾

 (A) 
[image: image183.wmf]duction

Re

EtOH

/

Na

¾

¾

¾

®

¾

 CH3CH2NH2   IUPAC name of (A) is -


(1) Methyl cyanide
(2) Mehyl isonitrile

(3) Acetonitrile
(4) Ethane nitrile

Q.58
Impure chloroform can tested by -


(1) Concentrated sulphuric acid 



(2) Blue litmus


(3) Silver nitrate solution




(4) All the above

Q.59
The reaction of ethyl bromide with a lead-sodium alloy gives  -


(1) Tetraethyl bromide
(2) Tetraethyl lead


(3) Sodium ethoxide
(4) None of these

Q.60
A strong solution of alcoholic alkali will preferentially promote alkyl halide into an alkene by -


(1) Addition 
(2) Elimination 



(3) Polymerisation
(4) Substitution

Q.61
Treatment of ammonia with excess ethyl chloride will give -


(1) Diethylamine



(2) Ethane



(3) Methylamine



(4) Tetraethyl ammonium chloride

Q.62
The mixture of two organic chlorine compounds on treatment with sodium metal in ether solution gives isobutane as one of the products. The reactants are -


(1) Methyl chloride and propyl chloride


(2) Methyl chloride and ethyl chloride


(3) Isopropyl chloride and ethyl chloride


(4) Isopropyl chloride and methyl chloride

Q.63
In the reaction 


CH3CH2CHBrCH3 + (CH3)3COK – the main product is-


(1) 
[image: image184.emf] 
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(2) 
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(3) CH3CH2CH=CH2
(4) CH3CH=CHCH3

Q.64
The iodoform test is used to show one particular structural unit in -


(1) Aliphatic alcohols 
(2) Aromatic acids


(3) Aliphatic acid
(4) Hydrocarbons

Q.65
Treatment of ethylidene chloride with aq. KOH gives -


(1) Ethylene

(2) Acetaldehyde


(3) Formaldehyde
(4) None of these

Q.66
A + PCl5 –––––– POCl3 + Alkyl halide. Compound A would be -


(1) Alkanone
(2) Alkane



(3) Alkanol

(4) Alkanal

Q.67
Chloroform is used as a laboratory reagent for testing the presence of -


(1) Nitro compound



(2) Primary amines


(3) Secondary amines


(4) Tertiary amines

Q.68
The reaction of chloroform with acetone gives-


(1) Mesitylene
(2) Ethylidene chloride


(3) Chloretone
(4) Chloral

Q.69
CCl4 is used as a fire extinguisher because-


(1) Of its covalent bond



(2) Of its low b.p.



(3) Of its high m.p.



(4) It gives incombustible vapours

Q.70
(CH3)3CBr + OH– ––––– (CH3)3COH + Br–

Which of the following statements is true for the above reaction –


(1)
If we double [RBr] the rate become four times


(2)
If we reduce [OH]– to  half, there is no change in the rate.


(3)
If we double [RBr] the rate does not change.


(4)
If we double [OH]– the rate double

Q.71
Unimolecular nucleophilic substitution [Sn1] involves ....... steps, while  bimolecular nucleophilic substitution  involves..... steps -


(1) Two, one
(2) One, two



(3) Two, two
(4) One, three

Q.72
The reactivities of CH3Cl, CH3CH2CH2Cl and chlorobenzene are in the order -


(1) CH3Cl > CH3CH2CH2Cl > C6H5Cl



(2) CH3CH2CH2Cl > CH3Cl > C6H5Cl


(3) C6H5Cl > CH3CH2CH2Cl > CH3Cl



(4) CH3Cl > C6H5Cl > CH3CH2CH2Cl

Q.73
For CH3Br + OH– –––– CH3OH + Br–

the rate of reaction is given by the expression-


(1)  rate = k [CH3Br]


(2)  rate = k [OH–]


(3)  rate = k [CH3Br] [OH–]


(4)  rate = k [CH3Br]0 [OH–]0
Q.74
In the reaction CH3CHCl2 
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(1) CH3CH2OH
(2) (CH3)2CO



(3)  
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CH2–CH2 OH   OH  


(4) CH3CHO

Q.75
Which of the following on alkaline hydrolysis gives ethanal  -


(1) Chloroform



(2) Ethylidene chloride



(3)  1, 2-Di chloro ethane


(4) Methylene chloride

Q.76
Arrange the following in decreasing order of 
C-halogen bond length -


(1) CH3I > CH3Br > CH3Cl > CH3F



(2) CH3F > CH3Br > CH3I > CH3Cl


(3) CH3CI > CH3Br > CH3I > CH3F



(4) CH3I > CH3Cl > CH3Br > CH3F

Q.77
Freon - 112 is -


(1) C2Cl4F2

(2) CCl2F2



(3) CCl3F

(4) C2Br4F2

Q.78
CH3CCl3 
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A and C in the above sequence are respectively -


(1) Acetic acid, ethyl bromide



(2) Acetic acid, ethyl chloride


(3) Acetic acid, methyl bromide



(4) Acetic acid, methyl chloride

Q.79
The ease of dehydrohalogenation with alcoholic KOH will be - 


chloroethane (I), 


2-chloropropane(II),

2-chloro-2-methylpropane(III)    


(1) III > II > I
(2) I > II > III


(3) II > I > III
(4) I > III > II

Q.80
R – X 
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The reagent Z in the above reaction is  -


(1) NaNO2




(2) KNO2



(3) NaNO2. + dil. HCl



(4) AgNO2

Q.81
In the reaction 


RCOOAg + Br2  
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the intermediate formed is -


(1) R–COOBr
(2) RCOO•

(3) R• 

(4) all of these

Q.82
Consider the following reaction sequence.


CH3CCH 
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The product (A) and (B) are, respectively -   


(1) CH3COCH3 and CH3CCl2CH3

(2) CH3CH2CHO and CH3CH2CHCl2


(3) CH3CHOHCH3 and CH3CHClCH3

(4) CH3CH2CH2OH and CH3CH2CH2Cl

Q.83
Neopentyl bromide is allowed to react with sodium ethoxide in ethanol. The major substitution product formed in the reaction 
is -

(1) 
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(2) 
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   CH 3 CH 2 – C – OC 2 H 5  

CH 3   CH 3  


 
(3) 
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(4) 
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Q.84
Which of the following reactions will not give an isocyanide -


(1) CH3CH2Br + AgCN   


(2) CH3CH2NH2 + CHCl3 + KOH 
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(3) CH3CH2CONH2 + P2O5  
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(4) All of the above

Q.85
Which of the following processes does not occur during the formation of CHCl3 from C2H5OH and bleaching powder -


(1) Oxidation
(2) Chlorination


(3) Hydrolysis
(4) Reduction

Q.86
Which of the following reactions is not expected to give a satisfactory yield of alkyl iodide -


(1) CH3CH2OH + KI + H3PO4 



(2) CH3CH2OH + PI3  
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(3) CH3CH2Br + NaI 
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(4) CH3CH2COOAg + I2 
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Q.87
2-Bromopentane is heated with potassium ethoxide in ethanol. The major product is -


(1) trans-2-pentene


(2) 2-ethoxypentane


(3) 1-pentene


(4) cis-2-pentene

Q.88
Consider the following sequence of reactions.


C2H5Cl 
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The products (X) and (Y) are, respectively - 


(1) C2H5CN and C2H5CH2NH2

(2) C2H5CN and C2H5CONH2

(3) C2H5NC and C2H5NHCH3

(4) C2H5CN and C2H5COOH

Q.89
The order of decreasing SN1 reactivities of the halides is -


CH3CH2CH2Cl
CH2 = CHCHClCH3

            I

          II


               CH3CH2CHClCH3

                            III


(1) I > II > III
(2) II > I > III


(3) II > III > I 
(4) III > II > I

Q.90
In the preparation of ethyl chloride by the reaction 


CH3CH2OH+HCl 
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the major reason for using anhydrous ZnCl2 as a catalyst is that 


(1)
It absorbs water formed in the reaction and drives the equilibrium to the right 


(2)
It coordinates with the product CH3CH2Cl and drives the reaction to the right 


(3)
It assists in forming the nucleophile 
Cl–  from HCl 


(4)
It coordinates with oxygen of ethyl alcohol and increases the leaving group ability of the –OH group 

Q.91
Which of the following reactions is likely to give the  greatest yield of n-propyl bromide ?

(1) CH3CH = CH2 + HBr 
[image: image208.wmf]¾
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(2) CH3CH2CH3 + Br2 
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(3) 
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(4) CH3CH2CH2Cl + NaBr 
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Q.92
Consider the following reaction sequence.


CH3C  CH
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The products (A) and (B) are, respectively,


(1) CH3CH2CHCl2 and CH3CH2CHO


(2) CH3CCl2CH3 and CH3COCH3

(3) CH3CCl2CH3 and CH3CCH


(4) CH3CHClCH2Cl and CH3CHOHCH2OH

Q.93
In the following reaction 



[image: image214.emf] 

Br + HC  CNa    

?

Product will be 


(1) 
[image: image215.emf] 

CCH
(2) 
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(3) 
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(4) 
[image: image218.emf] 

CC–CH3

Q.94
Isobutylmagnesium bromide in dry ether on reaction with absolute alcohol gives 


(1) (CH3)2 CHCH2OH and CH3CH2MgBr


(2) (CH3)2 CHCH2CH2CH3 and Mg(OH) Br


(3) (CH3)2CHCH3 and CH3CH2 OMgBr 


(4) (CH3)3 CH, CH2 = CH2 and Mg(OH)Br

Q.95
Which of the following will give a yellow precipitate of iodoform on heating with I2 and NaOH ? 


(1)  
[image: image219.emf] 
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(2) 
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(3) 
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(4) 
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Q.96
In which of the following cases will the product of the reaction respond positively to the iodoform test ? 

 
(1) (CH3)2C=CH2 
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(2) CH3​​–CH=CH2 
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(3) CH3–CCH
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(4) CH3–CC–CH3
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Q.97
Which of the following reactions is expected to take place by SN2 mechanism ? 


(1) 
[image: image227.emf] 
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(2) (CH3)3C–Br+ KOH 
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(3) CH3CH2CHBrCH3+CH3CO2Na
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(4) (CH3)2CHBr + AgCN 
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Q.98
Finkelstein reaction is -


(1) 2CH3CH2Cl+ Ag2O (dry)  


   CH3CH2OCH2CH3+ 2AgCl


(2) CH3CH2Br + NaI 
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CH3CH2I+ NaBr


(3) CH3CH2Br  + Ag2O (moist)  



CH3CH2OH + AgBr


(4) CH3CH2Cl + NaOCH3  



                     CH3 CH2OCH3 + NaCl
Q.99
An alkyl bromide (A) forms Grignard’s reagent which on treatment with water yields n-Hexane. 


(A) with sodium /ether forms  4, 5-diethyl octane. (A) is –


(1) CH3 (CH2)5 Br



(2) CH3 (CH2)3 CH(Br) CH3



(3) CH3 – (CH2)2 – CH(Br) CH2 CH3



(4) CH3 (CH2)2 CH(Br) CH = CH2
Q.100
Pick out the incorrect reaction -


(1) CH3CH=CH2 + HCl  CH3CHClCH3 

(2) CH3CH=CH2 + HBr  CH3CH2CH2Br 


(3)CH3CH=CH2 + HBr
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(4) CH3CH=CH2 + HI  
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EXERCISE # 1
(Mcq of Alcohol)
Q.1
Which of the following isomeric alcohols have highest boiling point -


(1) Primary

(2) Secondary



(3) Tertiary

(4) All equal

Q.2
Least soluble alcohol in water is :


(1) 
[image: image234.emf] 

OH  

  
(2) 
[image: image235.emf] 

OH  

  




(3) 
[image: image236.emf] 

OH  

 
(4) 
[image: image237.emf] 
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Q.3
Hydrogen bonding is possible in-


(1) Ethers

(2) Hydrocarbons


(3) Alkanes

(4) Alcohols

Q.4
The increasing order of boiling points of 1º, 2º, 3º alcohol is -

(1) 1º > 2º > 3º
(2) 3º > 2º > 1º


(3) 2º > 1º > 3º
(4) None

Q.5
The solubility of lower alcohols in water is due to -

(1) Formation of hydrogen bond between alcohol and water molecules


(2) Hydrophobic nature of alcohol



(3) Increases in boiling points


(4) None of these

Q.6
Match List-I with List-II and then select the correct answer from the codes given below the lists-



List-I






(A) CH3MgI + CH3CHO  Aduct 
[image: image238.emf] 
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(B) (CH3)2C = CH2 dil. 
[image: image239.emf]  dil.  H 2 SO 4  

 



(C) CH3COOC2H5 
[image: image240.emf] 

Na + EtOH   reduction  



(D) CH3CHOHC2H5





List-II


(a) Shows optical isomerism



(b) A secondary alcohol giving iodoform test


(c) Product is a tertiary alcohol


(d) Product is primary alcohol


(1) Ab, Bd, Cc, Da
(2) Ab, Bc, Cd, Da


(3) Ab, Bc, Ca, Dd
(4) Ab, Ba, Cd, Dc

Q.7
The alkaline hydrolysis of esters is known as:


(1) Hydration
(2) Esterification


(3) Dehydration
(4) Saponification

Q.8
Which of the following reactions of an alcohol does not involve O–H bond breaking :


(1) Reaction with alkali metals




(2) Reaction with an acyl chloride


(3) Reaction with sulphonyl chloride


(4) Reaction with conc. sulphuric acid.

Q.9
Separation of proton is difficult in-


(1) MeOH

(2) MeCH2OH



(3) (Me)3COH
(4) (Me)2CHOH

Q.10
Alkyl chloride is formed when alcohol is treated with HCl in presence of anhydrous ZnCl2. The order of reactivity with respect to alcohol is :


(1) 3º > 2º > 1º
(2) 1º > 2º > 3º


(3) 2º > 1º > 3º
(4) 1º > 3º > 2º

Q.11
An organic compound dissolved in dry benzene, evolved hydrogen on treatment with sodium. It is-

(1) A ketone
(2) An aldehyde


(3) A tertiary amine
(4) An alcohol

Q.12
When ethyl alcohol reacts with acetic acid, the products formed are-


(1) Sodium ethoxide + hydrogen



(2) Ethyl acetate + water


(3) Ethyl acetate + soap




(4) Ethyl alcohol + water

Q.13
Methyl alcohol reacts with phosphorus trichloride to form-


(1) Methane

(2) Methyl chloride


(3) Acetyl chloride
(4) Dimethyl ether

Q.14
The -OH group of methyl alcohol cannot be replaced by chlorine by the action of-


(1) Chlorine





(2) Hydrogen chloride



(3) Phosphorus trichloride



(4) Phosphorus pentachloride

Q.15
R-OH + SOCl2 
[image: image241.wmf]¾
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(1) Catalyses the reaction 


(2) Used to dissolve alkyl chloride


(3) To remove excess of SOCl2



(4) None of the above

Q.16
Reaction of alcohol does not show cleavage of R-O linkage-


(1) ROH + PCl5
(2) ROH + SOCl2

(3) ROH + HCl
(4) ROH + Na

Q.17
Replacement of -OH group in alcohol by -Cl cannot be carried out with-


(1) PCl5
(2) SO2Cl2        (3) PCl3
(4) SOCl2
Q.18
The missing structures A and B in the reaction sequence :


R–CH2–CH2OH
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A & B  are given by the set -


(1) CH3OH, RCOOH
(2) Methanal, RCH2OH


(3) Ethanal, RCOOH
(4) Methanal, RCHOHR

Q.19
A on treatment with Na gives B and with PCl5 gives C. B and C react together to give diethyl ether. A, B and C are in the order-


(1) C2H5OH, C2H5Cl, C2H5ONa



(2) C2H5OH, C2H6, C2H5Cl


(3) C2H5OH, C2H5ONa, C2H5Cl



(4) C2H5Cl, C2H6, C2H5OH 

Q.20
Which alcohol does not give a ketone on oxidation-


(1) Isopropyl alcohol



(2) Allyl alcohol





(3) Ethylmethylcarbinol


(4) Methylphenylcarbinol

Q.21
The product of reaction, 


CH3CH2OH 
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(1) C2H6

(2) CH3COCH3



(3) CH3CHO
(4) CH3COOH

Q.22
A compound X with molecular formula C3H8O can be oxidised to a compound Y with the molecular formula C3H6O2, X is most likely to 
be -


(1) Primary alcohol
(2) Secondary alcohol


(3) Aldehyde
(4) Ketone

Q.23
Which of the following reactions does not involve reduction :


(1) R–COOH —— RCH2OH




(2) RCHO —— RCH2OH


(3) R–CO–R' —— R–CH2–R'




(4) 
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Q.24
Tertiary alcohols are resistant to oxidation because :


(1) They do not have  hydrogen atom


(2) Of large +I effect of alkyl groups


(3) Of greater steric hindrance




(4) All the above

Q.25
Ethanol on heating with acetic acid in the presence of a few drops of sulphuric acid gives the smell of :


(1) Oil of wintergreen



(2) Oil of mustard



(3) An ester




(4) Oil of bitter almonds

Q.26
Which of the following alcohols does not give iodoform reaction :


(1) Grain alcohol



(2) Carbinol (Methanol)


(3) Rubbing alcohol (Isopropyl alcohol)



(4) Vinyl alcohol
Q.27
Which of the following alcohols does not give a red colour in Victor Meyer test-


(1) Isobutyl alcohol
(2) Isopentyl alcohol


(3) Diethyl carbinol
(4) Phenyl carbinol

Q.28
Methanol and ethanol are distinguished by-


(1) Treating with Schiff’s  reagent



(2) Treating with Lucas reagent


(3) Heating with iodine and alkali



(4) Treating with CrO3 in dil. H2SO4

Q.29
Which of the following reactions is not called Bouveault-Blanc reduction :


(1) R–CHO 
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(2) R–CO–R' 
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(3) R–COOH 
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(4) RCOOR'
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Q.30
The hydroboration of 2-methyl propene yields-


(1) 1º alcohol

(2) 2º alcohol



(3) 3º alcohol

(4) None

Q.31
LiAlH4 converts acetic acid into-


(1) Acetaldehyde
(2) Methane



(3) Ethyl alcohol
(4) Methyl alcohol

Q.32
A tertiary alcohol is obtained when CH3MgI reacts with-


(1) CH3CHO
(2) CH3CH2CHO


(3) 
[image: image251.emf]  CH 3 – CH – CHO  
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(4) CH3COCH3
Q.33
To prepare 3-ethylpentan-3-ol, the reactants needed are-


(1) CH3CH2MgBr + CH3COCH2CH3

(2) CH3MgBr + CH3CH2CH2COCH2CH3

(3) CH3CH2MgBr + CH3CH2COCH2CH3

(4) CH3CH2CH2MgBr + CH3COCH2CH3

Q.34
Action of HNO2 on CH3NH2 gives-


(1) CH3OH

(2) CH3–O–CH3

(3) CH3–O–N=O
(4) All the above

Q.35
Acetaldehyde reacts with CH3MgBr. The compound formed will be -


(1) CH3CH2OH





(2) CH3CHOHCH3

(3) CH3CH2CH2OH




(4) None of these

Q.36
Identify Z in the series,  CH2 = CH2 
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(1) C2H5I

(2) C2H5OH



(3) CHI3

(4) CH3CHO

Q.37
In the reaction sequence, the product C is-


CaC2 
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(1) CH3OH

(2) CH3CHO



(3) C2H5OH

(4) C2H4
Q.38
Action of nitrous acid on ethyl amine gives -


(1) C2H6

(2) C2H5OH


(3) NH3

(4) Nitromethane

Q.39
Reaction, CO + H2  
[image: image258.emf] 
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               (Water gas)


may be used for the manufacture of -


(1) HCHO

(2) HCOOH



(3) CH3OH

(4) CH3COOH

Q.40
Water gas is mixture of-


(1) CO + H2 in the ratio 1 : 2 


(2) CO2 + H2 in the ratio 1 : 1


(3) Steam + CO in the ratio 1 : 1



(4) CO + CO2 + Steam
Q.41
Absolute alcohol contains-


(1) 40% H2O
(2) 10% H2O



(3) 5% H2O

(4) 100% C2H5OH

Q.42
Proof spirit contains about -


(1) 40% alcohol by weight




(2) 50% alcohol by weight


(3) 25% alcohol by weight




(4) 10% alcohol by weight

Q.43
Ethanol cannot be concentrated by fractional distillation because -


(1) It is an inflammable liquid


(2) Its boiling point is very close to that of water


(3) It forms a constant boiling mixture with 


      water


(4) It is soluble in water in all proportions

Q.44
Ethyl alcohol is denatured by-


(1) Methanol and formic acid




(2) KCN


(3) CH3OH and C6H6





(4) CH3OH and pyridine

Q.45
Chief use of methylated spirit is-


(1) Solvent in preparing varnishes



(2) Drug in medicine


(3) For a drinking purpose




(4) Good fuel

Q.46
Which of the following reactions leads to formation of 2- propanol :


(1) CH3CH2MgI+HCHO  Adduct 
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(2) CH3MgBr + CH3CHO Adduct 
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(3) CH3MgBr +
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(4) CH3COCH3 + Mg-amalgam + dil. HCl 

Q.47
2-Bromopentane is heated with potassium ethoxide in ethanol.The major product obtained is-

(1) 2-ethoxypentane
(2) pentene-1


(3) cis-pentene-2
(4) trans-pentene-2

Q.48
Abstraction of proton from :



[image: image263.emf] 
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 

H  

 by H2SO4 leads to :


(1) Carbonium ion
(2) Carbene



(3) Ethene

(4) Ethoxy ethane

Q.49
Given :


  Four
 Number of
 Number of


Alcohols
–hydrogen
–hydrogen


    A
     3

    0


    B
    2

    3


    C
    1

    6


    D
    0

    9


Which alcohol will give blue colour with Victor Meyer reagent :


(1) C    
(2) B
(3) D
  
(4) A

Q.50
The reaction 


2CH3CH2OH 
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is believed to occur through the formation of 


(1) CH3CH2
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(3) 
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(4) All of these

Q.51
Non–occurence of the following reaction


Br– + CH3OH  BrCH3 + OH– ,  is due to:


(1) Attacking nucleophile is stronger one


(2) Leaving group is a strong base


(3) Alcohols are not good substrate



(4) Hydroxide ions are weak bases

Q.52
Ethyl alcohol is less acidic than phenol because :

(1) The phenoxide ion is resonance stabilized 


(2) There is more hydrogen bonding in phenol than in ethyl alcohol


(3) The ethoxide ion is less resonance stabilized than ethyl alcohol


(4) Phenol has a higher b.p. than ethyl alcohol

EXERCISE 2
(Mcq of Phenol)
.1
Next higher homologue of phenol is –


(1) Hydroxy toluene 



(2) Hydroxy benzene



(3) Dihydroxy benzene



(4) None of the above

Q.2
Which of the following is not a phenolic compound –


(1) Salol

(2) o-Cresol



(3) Anisole

(4) Quinol

Q.3
Unacceptable name for a compound containing one -OH group attached to benzene nucleus would be-


(1) Carbolic acid 
(2) Hydroxybenzene


(3) Catechol

(4) Phenol 

Q.4
How many electrons are there in a planar ring of phenol –


(1) 4
(2) 6
(3) 8

(4) 10

Q.5
Which of the following is not a correct statement 


(1) Phenol is a much weaker acid than benzoic acid


(2) The reaction of ferric chloride with phenol to give violet colour is characteristic of 
[image: image268.emf] 
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(3) Phenol is a stronger acid than ethanol but weaker than benzyl alcohol


(4) Picric acid does not contain a -COOH group.

Q.6
Which of the following is a correct statement-


(1) Phenol is more acidic than ethanol



(2) Phenol is less acidic than ethanol


(3) Phenol reacts with NaHCO3



(4) Phenol reacts with NH2OH and HCl to form oxime

Q.7
The best method for the preparation of chlorobenzene is-


(1)
[image: image269.emf] 
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(2) 
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Q.8 
Which of the following reaction is called ‘Schotten-Baumann’ reaction –


(1) C6H6 
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(2) C6H5NH2 
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(3) C6H5OH 
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(4) C6H6 
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Q.9
Phenol reacts with bromine in CS2 at a low temperature, the product is -


(1) m-Bromophenol 

(2) p-Bromophenol


(3) o-and p-Bromophenol



(4) 2, 4, 6-Tribromophenol 

Q.10
Phenol reacts with conc. HNO3 in the presence of conc. H2SO4 to give –


(1) Meta nitrophenol 





(2) Ortho nitrophenol


(3) Ortho and para nitrophenol 




(4) Picric acid

Q.11
Phenol on heating with NaNO2 and a few drops of conc. H2SO4 gives –


(1) p-Nitrophenol
(2) p-Nitrosophenol



(3) o-Nitrophenol
(4) m-Nitrosophenol

Q.12
Ortho and para hydroxy acetophenone and anhydrous AlCl3 are related with the following reaction –


(1) Phthalein reaction 



(2) Fries rearrangement 


(3) Schmidt reaction

(4) Wurtz-Fittig reaction

Q.13
The product obtained in the reaction, 


Phenol + KOH + chloroform  product


resembles with the product of the reaction –


(1) Phenol + CO2(,HCl)



(2) Phenol + HCN + HCl 



(3) Phenol + CrO2Cl2



(4) Phenol + CH3COCl

Q.14
The formylating agent in ‘Gattermann Koch’ synthesis is -


(1) CO + HCl



(2) CO + H2



(3) HCl + HCN


(4) CHCI3 + alc.KOH

Q.15
Which of the following is not correctly matched -

(1) Phenol + CHCl3 + NaOH 
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(2) Phenol + Phthalic anhydride 
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(3) Phenol 
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(4) Sodium phenate+CO2
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Q.16
Phenol 
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(A) and (B) in the above reaction sequence are-

(1)  
[image: image283.emf] 

OEt  

    and 
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(2)  
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Q.17
Reaction -I :


Phenol 
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Reaction - II :


Phenol  
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Wrong statement about P and Q is –


(1) Both the compounds give violet colour with FeCl3

(2) Both the compounds on deoxygenation give benzene 


(3) Both the compounds contain phenolic -OH group 


(4) Compound P is phenol and Q is cresol

Q.18
In Liebermann nitroso test -


(1) Phenol reacts with nitrous acid 




(2) Aniline reacts with nitrous acid 


(3) Phenol and aniline reacts with NaNO2+HCI 


(4) None of the above 

Q.19
Ledrer-Mannase reaction does not give the following product –


(1) o-Hydroxy benzyl alcohol



(2) p-Hydroxy benzyl alcohol


(3) m-Hydroxy benzyl alcohol 




(4) (1) and (2) are correct

Q.20
What are the final products of the following sequence of reactions ?


C6H6+CH3CH=CH2
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(1) Cumene and phenol 


(2) Phenol and acetone


(3) Cumene and acetone


(4) Benzoic acid and ethane

Q.21
By which of the following reactions phenol can be prepared industrially –


(1) Rasching process


(2) Dow process


(3) Cumene is oxidised and the product obtained is treated with dil. H2SO4

(4) All of the above

Q.22
The compound obtained by heating cumene hydroperoxide with dil. H2SO4 is –


(1) Phenol


(2) Isopropyl benzene


(3) Benzene sulphonic acid


(4) None of these

Q.23
The product of the reaction of benzene with oxygen in the presence of V2O5 as catalyst at 200ºC is  - 


(1) Maleic anhydride 
(2) Benzoic acid 


(3) Phenol

(4) None of these 

Q.24
Dow’s process used in the industrial preparation of phenol, is -


(1) C6H5Cl
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(2) C6H5CI+H2O
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(3) C6H5NH2 +HNO2
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(4) C6H5N2Cl +H2O  C6H5OH + N2 + HCl
Q.25
Which of the following will not be soluble in sodium carbonate solution –


(1) 
[image: image304.emf] 
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(2) 
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(3)   
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(4) 
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Q.26  
The most suitable method of separation of a 
1 : 1 mixture of o- and p- nitrophenol is –


(1) Sublimation 
(2) Chromatography


(3) Crystallisation
(4) Distillation

Q.27
Idenfity the end product (B) of the following sequence of reaqction.
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(1) 
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Q.28
C6H5OH
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Compound (B) in the above reaction is –


(1) Acetyl chloride
(2) Benzoyl chloride


(3) Benzamide
(4) Acetanilide
Q.29
Which of the following compounds undergoes hydrolysis most readily by aqueous NaOH to furnish the corresponding phenol ?



(1) 
[image: image317.emf] 

Cl  

  

(2) 
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(3) 
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(4) 
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Q.30
An organic compound having the molecular formula C8H10O on being heated with I2 and dilute NaOH gives a yellow precipitate.  The compound is expected to be –



(1) C6H5CH2CH2OH



(2)  
[image: image321.emf] 

CH 2 OH  
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(3)  
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(4)  
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EXERCISE - 3 (Mcq of EtHer) 
Q.1
The number of alkanols and ethers represented by the molecular formulae C3H8O and C4H10O respectively are given by the set-


(1) 2 , 1  ;  3 , 2
(2) 1, 2  ;  2 , 3 


(3) 2 , 1  ;  4 , 3
(4) 2 , 1 ; 3 , 4

Q.2
Which is mismatched -


(1) C2H5–O–C2H5 

    Four  primary carbon atoms


(2) CH3–CH2–CH(OH)CH3




    Optically active


(3) CH3–O–CH (CH3)2





    Two secondary carbon atoms


(4) Ether is heated with CH3COCl in presence of AlCl3 CH3COOC2H5 + C2H5Cl

Q.3
Diethyl ether is metamer of -


(1) Ethoxyethane


(2) Methyl propyl ether


(3) Methoxyethane

(4) Ethoxymethane

Q.4
Electron pair donating tendency is maximum in -

(1) Me–O–H
(2) Me–O–Me



(3) Et–O–H

(4) Et–O–Et

Q.5
Diethyl ether acts as a -


(1) Lewis acid
(2) Lewis base



(3) Reducing agent
(4) Oxidising agent

Q.6
Ethers like alcohols do not form  strong..... bonding . Hence they are more volatile -


(1) Covalent
        (2) Hydrogen



(3) Coordinate    (4) None of the above

Q.7
The compound obtained by the reaction of diethyl ether with chlorine in the presence of sun light, is 


(1) Perchloro diethyl ether    


    H5C2–OC2Cl5



(2) Perchloro diethyl ether   


    Cl5C2–O–C2Cl5

(3) , ',- Dichloro diethyl ether

      

                    ClCH2CH2–O–CH2CH2Cl


(4) ,- Dichlorodiethylether

    


     
[image: image324.emf]  CH3–CH–O–CH–CH3 
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Q.8
Diethyl ether absorbs oxygen to form -


(1) Red coloured sweet smelling compound


(2) Acetic acid
(3) Ether sub oxide



(4) Ether peroxide

Q.9
Diethyl ether and air gives ether- hydroperoxide. The mechanism of the reaction is -


(1) Nucleophilic substitution




(2) Free radical addition


(3) Free radical substitution




(4) None of the above

Q.10
The order of reactivity of halogen acids with ether is -


(1) HCl > HBr > HI
(2) HI > HBr > HCl


(3) HCl > HI > HBr
(4) HI > HCl > HBr

Q.11
The reaction of ethoxyethane and ethanoyl chloride is carried out in presence of anhydrous aluminium chloride. The product on alkaline hydrolysis gives -


(1) CH3CH2OH
(2) CH3CH2OCH2CH3

(3) CH3OCH3
(4) 
[image: image325.emf]  CH 2 – CH 2  
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Q.12
Ether on carbonylation gives -


(1) Alkanoic acid
(2) Alkanone



(3) Alkyl alkanoate
(4) Alkanal

Q.13
Which of the following compounds forms an adduct with diethyl ether through coordinate bond 


(1) BF3

(2) Oxygen of air


(3) BCl3

(4) All of the above

Q.14
Which of the following is a false statement -


(1) Diethyl ether gives ethyl iodide on reacting with HI


(2) Diethyl ether and methyl isopropyl ether are chain isomers


(3) Diethyl ether is a Lewis base


(4) Diethyl ether on hydrolyses to ethanol by dil.H2SO4
Q.15
Mark the correct statement -


(1) Ethers behave as Lewis base



(2) Ethers form coordinated complexes with Lewis acids


(3) With cold HI diethyl ether gives ethyl alcohol & ethyl iodide 


(4) All are correct

Q.16
Ethers are quite stable towards -


(1) Oxidising agents
(2) Bases


(3) Na metal
(4) All the above


Q.17
Ether is used as -


(1) An antiseptic and a solvent


(2) An anaesthetic and a solvent


(3) A fire extinguisher under the trade name pyrene


(4) A dry cleaning solvent

Q.18
In which case the product is neither a cyclic ether nor open chain symmetrical ether-


(1) CH3– CH = CH – CH3 
[image: image326.wmf]¾

¾

¾

¾

®

¾

H

CO

H

C

3

5

6



(2) CH3CH2ONa + C2H5Br  


(3) KCN + (CH3)3 CBr 



(4) C2H5OH (Excess) + H2SO4 
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Q.19
In order to obtain diethyl ether from ethanol, the latter is taken in -


(1) In equal amount of sulphuric acid



(2) In slightly lesser amount of sulphuric acid


(3) In excess amount of sulphuric acid


(4) In far lesser amount of sulphuric acid

Q.20
For making (CH3)3C–O–C2H5 the ideal combination is -


(1) (CH3)3CONa and C2H5Br




(2) (CH3)3CBr and C2H5ONa


(3) Both the above





(4) None

Q.21
Mixed ether will not be formed in the reaction-


(1) CH3OCH2Cl + C2H5MgBr




(2) CH2N2 + C2H5OH


(3) C2H5ONa + CH3I





(4) C2H5OH + H2SO4 (140ºC)

Q.22
In which case ether is formed -


(1) (CH3)3C–Br + CN– 





(2) CH3CH2Br + (CH3)3CO– 

(3) (CH3)3 C–Cl + C2H5O–




(4) None of the above

Q.23
Which of the following is not expected to give ether on reaction with sodium methoxide -   


(1) CH3CH2CH2Cl


(2) CH2=CHCH2Cl


(3) PhCH2Cl


(4) CH2=CHCl

Q.24
Consider the following reaction,


CH3CH=CH2 
[image: image328.wmf]4

3

2

3

NaBH

.

2

OH

CH

.

Hg

)

COO

CH

.(

1

¾

¾

¾

¾

¾

¾

¾

¾

®

¾



The product formed in the reaction is - 

(1) 
[image: image329.emf] 

CH3CH–O–C–CH3 

O   CH 3  

 (2)  
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(3)  
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Q.25
Dimethyl ether, Me2O, is highly soluble in water while diethyl ether, Et2O, is only sparingly soluble because -


(1) Me2O reacts with water efficiently due to its small sized methyl groups but Et2O does not


(2) hydrogen bonding between Et2O and H2O is less efficient due to steric crowding around oxygen of Et2O while the hydrogen bonding between Me2O and H2O is much efficient due to small size of the methyl groups


(3) C2H5 – groups has a stronger +I effect than CH3 – group


(4) hyperconjugation of C–H bond is greater in Me2O than in Et2O

Q.26
Consider the following transformation.


CH3CH=CH–O–CH2CH3 
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The major product(s) formed is (are) -


(1) CH3CH=CHI and CH3CH2I


(2) CH3CH=CHI and CH3CH2OH


(3) CH3CH2CHO and CH3CH2I


(4) 
[image: image334.emf]  CH3CH2CH–O–CH2CH3 
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Q.27
Propene is allowed to react with HI.The product (A) is then treated with CH3ONa to give a new product (B).


CH3CH=CH2  
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The structure of the product (B) is -


(1) CH3CH2CH2OCH3 
 (2)  
[image: image337.emf] 
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(3) CH3CH2OCH2CH3 
(4) CH3CH2OCH=CH2
Q.28
In the reaction 


CH3CH=CH2 
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the product (B) is -


(1) 
[image: image340.emf] 

CH 3 – CH – OC 2 H 5  

CH 3  


(2) CH2=CHCH2OC2H5

(3) CH3CH2CH2OC2H5 (4) C2H5CH2OCH=CH2

Q.29
Which of the following reactions does not yield an alkyl halide?


(1) CH3CH2OCH2CH3  
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(2) CH3CH2OCH2CH3 
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(3) CH3CH2OCH2CH3  
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(4) CH3CH2OH 
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Q.30
Which one among the following reactions is an example of Williamson synthesis -


(1) CH3COCH3 
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(2) CH3CHO 
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(3) C2H5I + C2H5ONa 
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Q.31
The IUPAC name of the compound


       
[image: image349.emf] 
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   is  


(1) 2-methyl 2-(1 methylethoxy)propane


(2) t-butyl isopropyl ether 



(3) 1-isopropoxy-1,1-dimethylethane



(4) 2-(1,1-dimethylethoxy)propane

Q.32
The ether in which all atoms  may exist in one plane is 


(1) 
[image: image350.emf] 
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(2) 
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(3) 
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(4) 
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Q.33
Pinacol vapour is passed over alumina heated at about 350ºC. 
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The major product formed in the reaction is:


(1) 
[image: image355.emf] 
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(2) 
[image: image356.emf] 

CH 2 =C  – C=CH 2  

CH 3  

H 3 C  



(3) 
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Q.34
Which of the following reactions would give the best yield of t-butyl methyl ether ?

 (1) 
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(3) 
[image: image362.emf] 

CH 3 – C – Br  

CH 3  

CH 3  

+CH3ONa–(4) 
[image: image363.emf] 

CH 3 – C – O K  

CH 3  

CH 3  

+CH3Br––
Q.35
1-Chloro-2-butene is allowed to react with a concentrated solution of C2H5ONa in C2H5OH The rate of reaction is found to be dependent on the concentrations of both the substrate and the nucleophile. 


CH3CH=CHCH2Cl + C2H5ONa 
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The major product formed in the reaction is 


(1) CH3CH=CHCH2OC2H5 


(2) 
[image: image365.emf]  (CH 3 ) 2 C – OSO 3 H  

OC 2 H 5  

  


(3) CH2=CH–CH=CH2

(4) All of these in equal amounts 

Q.36
Identify the final product (B) in the following sequence of reactions. 
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(1) (CH3)2C–OSO3H


(2)  C2H5OC2H5

(3) (CH3)3COC2H5

(4) (CH3)2CHCH2OC2H5
Q.37
In the reaction 


(CH3)3 C — O — CH2CH3 + HI  
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      (1mole)

the product(s) formed  is (are) 


(1)
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 and CH3CH2I 

(2)
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(3) 
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Q.38
In the reaction
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the product (1) has the structure 


(1) 
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Q.39
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(1)  
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(2) 
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(3) 
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OCH 3  


(4) 
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Q.40
Methyl tertiary butyl ether (MTBE) is added in gasoline to improve its octane number. 
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Which of the following is the best method for synthesis of the above ether ?


(1) (CH3)2C= CH2 + CH3OH 
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(2) (CH3)3CBr + CH3ONa ––


(3) (CH3)3C – ONa + CH3I ––

(4) All of these 
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EXERCISE 1
(Mcq of Carbonyl Compounds)
Q.1
Compound used for preserving dead bodies is -


(1) CH2O (40%)
(2) CH3CHO (10%)


(3) CH3OH (25%)
(4) C2H5OH (40%)

Q.2
Which of the following forces is correctly described about boiling point of Aldehydes & ketones -


(1) Hydrogen bond



(2) Vander wall force


(3) Dipole-dipole attraction


(4) None of these

Q.3
Which aldehyde is insoluble in H2O​ -


(1) Propanal

(2) Ethanal


(3) Butanal

(4) Heptanal

Q.4
The general order of reactivity of carbonyl compounds for nucleophilic addition reactions is -

(1)
H2C = O > RCHO > ArCHO > R2C = O    > Ar2C =O


(2)
ArCHO > Ar2C = O > RCHO > R2C = O 


> H2C = O


(3)
Ar2C = O > R2C =O >ArCHO > RCHO 


>  H2C = O


(4)
H2C = O > R2C = O > Ar2C =O > RCHO 


> ArCHO

Q.5

Least reactive towards nucleophilic addition 

is -



(1) CH2=O 

(2) 
[image: image386.emf]  CCl 3 – C – C 2 H 5  

O  

 





(3) 
[image: image387.emf]  CH 3 – C – C 2 H 5  

O  

 
(4) 
[image: image388.emf]  CH 3 – C – H  

O  

 

Q.6
What would be the product when acetaldehyde reacts with HCN and the product is further hydrolysed-


(1) 2-Hydroxy propanoic acid




(2) Lactic acid


(3) Both A & B


(4) None of these
Q.7
Reaction of ammonia derivative with carbonyl compound is an example of -


(1) Addition and Substitution




(2) Substitution and Elimination


(3) Addition and Elimination




(4) Addition and intramolecular substitution

Q.8
The vapour density of a compound is 29, which reacts with iodine and NaOH to form a yellow compound. The compound is -


(1) CH3COOH
(2) CH3COCH3

(3) CH3CHOHCH3
(4) CH3OH
Q.9
Stephen reaction is the reaction involving:


(1) Reduction of alkanoyl chloride with 
Pd/BaSO4.


(2) Reduction of alkyl isocyanide with 
sodium and alcohol.


(3) Reduction of alkyl cyanide with SnCl2 and HCl and hydrolysing the intermediate aldimine.


(4) Reduction of carbonyl compound with zinc amalgam and HCl.

Q.10
Acetone gives test with-


(1) 2,4 Dinitro phenyl hydrazine




(2) Fehling solution


(3) Schiff's reagent






(4) All

Q.11
A ketone reacted with ethyl magnesium 
bromide followed by hydrolysis give a product which on dehydration give an alkene. The alkene on ozonolysis give diethyl ketone and acetaldehyde. The ketone is-


(1) Dimethyl ketone



(2) Ethyl methyl ketone


(3) Diethyl ketone






(4) Ethyl propyl ketone

Q.12
Aldol condensation between the following compounds followed by dehydration gives methyl vinyl ketone-


(1) HCHO and CH3COCH3




(2) HCHO and CH3CHO


(3) Two molecules of CH3CHO




(4) Two molecules of CH3COCH3
Q.13
In Cannizzaro reaction-


(1) Aldehyde is converted into alcohol


(2) Alcohol is converted into aldehyde


(3) Primary amine is converted into isocyanide


(4) Acid is converted into amine

Q.14
One mole of an organic compound requires 0.5 mole of oxygen to produce an acid. The compound may be-


(1) Alcohol

(2) Ether




(3) Ketone

(4) Aldehyde

Q.15
Which is most difficult to oxidise-


(1) HCHO

(2) CH3CHO




(3) CH3COCH3
(4) CH3CH2CHO

Q.16
For the given reaction RCH = O  R–CH2OH


the catalyst is-


(1) Ni only

(2) Pd. only



(3) Pt. only

(4) Any of the above

Q.17
Acetone shows similarity with acetaldehyde in reacting to -


(1) Schiff's reagent
(2) Fehling solution



(3) Grignard reagent
(4) Tollen's reagent

Q.18
Aldehydes and ketones can be reduced to corresponding hydrocarbons by-


(1) Refluxing with strong acids




(2) Passing the vapours over PbO2

(3) Refluxing with zinc amalgam




(4) Refluxing with strong base

Q.19
Formaldehyde polymerises from 6 to 100 molecules to form-


(1) Formalin
(2) Metaldehyde


(3) Paraformaldehyde
(4) None

Q.20
Metaformaldehyde is a -


(1) Trimer of HCHO





(2) Dimer of HCHO


(3) Hexamer of CH3CHO





(4) Hexamer of HCHO

Q.21
Which of the following combinations give 
t-butyl alcohol when treated with Grignard reagent -


(1) CH3MgBr + CH3COCH3





(2) C2H5 MgBr + CH3COCH3


(3) CH3MgBr + (CH3)3COH





(4) CH3MgBr + CH3CH2CHO

Q.22
On polymerisation of Ethanal, sleeping drug is formed & i.e.-

(1) Phorone

(2) Mesitylene


(3) Paraldehyde
(4) Metaldehyde

Q.23
The name of the compound 



[image: image389.emf] 

(CH 3 ) 2 – C – CH 2 – COCH 3  

NH 2  

 is -


(1) Diacetone
(2) Acetonamine



(3) Diacetonamine
(4) Aminoacetone

Q.24
The conversion 


CH3CH2CHO ––––– CH3CH2CH2OH 


can not be affected by:


(1) NaBH4

(2) Zn/HCl




(3) H2/Ni

(4) All of the above
Q.25
Which of the following can be used to differentiate between ethanal and propanal-


(1) Ammonical AgNO3


(2) Ammonical AgNO3 in presence of tartrate ions


(3) I2 in presence of base


(4) Ammonical AgNO3 in presence of citrate ions

Q.26
Fehling's solution –B is-


(1) NH4OH

(2) Cu(OH)2




(3) CuO

(4) None of these

Q.27
The reaction, 


2RCHO 
[image: image390.wmf]¾
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is called -




(1) Tishenko reaction


(2) Knoevangel reaction 



(3) Cannizzaro reaction 



(4) HVZ reaction

Q.28
The best method for the conversion of ethanol to ethanal is-


(1)
By passing ethanol vapours over Cu at 578 K

(2)
By oxidation with acidic potassium dichromate


(3)
By oxidation with mangenese dioxide at 300ºC


(4)
By oxidation with acidic KMnO4
Q.29
When propyne reacts with 20% H2SO4 & 1% HgSO4 , we get-


(1) Acetaldehyde
(2) Propanaldehyde



(3) Acetone

(4) Formic acid

Q.30
The product formed by the reaction of propyne with dil. H2SO4 in the presence of Hg2+ can not be prepared by the following reaction-


(1)
Dry distillation of calcium ethanoate


(2)
By passing vapours of ethanoic acid over MnO at 300ºC


(3)
By ozonolysis of 2- Butene


(4)
By alkaline hydrolysis of isopropylidene chloride

Q.31
Except acetylene, other alkynes react with H2O to give-


(1) Aldehyde
(2) CH3CHO



(3) Ketones

(4) Alkanal.

Q.32
When CH3MgI reacts with CH3CN and the product is hydrolysed, we get-


(1) Propanal

(2) Acetone




(3) Formaldehyde
(4) Acetaldehyde

Q.33
Ethylidene chloride (CH3CHCl2) on hydrolysis with NaOH gives -

(1) CH3CHO
(2) CH3COCH3



(3) CH3CH(OH)2
(4) C2H5OH

Q.34
(HCOO)2Ca+(CH3COO)2Ca
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"A"-Product A is–


(1) Propanone
(2) Methanal


(3) Ethanal

(4) All of the above

Q.35
When calcium acetate is heated with calcium formate then, we get-


(1) Methanol
(2) Acetone 




(3) Acetaldehyde
(4) mixture of all the three

Q.36
Partial oxidation of methane gives-


(1) HCHO

(2) HCOOH



(3) H2O and CO2
(4) CO and H2

Q.37
The reaction -


CH3COCl + H2 
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CH3CHO + HCl is 


(1) Stephen's reaction


(2) Rosenmund reaction


(3) Hoffmann reaction


(4) Cannizzaro's reaction

Q.38
Acetone will be obtained by the ozonolysis of -



(1) 1-Butene

(2) 2-Butene





(3) Isobutene

(4) 2-Butyne

Q.39
What is the function of BaSO4 in Rosenmund reactionn -



(1) To stop further oxidation of aldehyde




(2) To stop further reduction of aldehyde



(3) Act as a poisonous catalyst





(4) None

Q.40
The slow partial oxidation of ethyl alcohol is likely to form-


(1) CO2+H2O
(2) Acetic acid



(3) CH + H2O
(4) Acetaldehyde

Q.41
Reaction of ethyl formate with excess of CH3MgI followed by hydrolysis gives:


(1) n-Propyl alcohol




(2) Ethanal




(3) Propanal




(4) Isopropyl alcohol

Q.42
C6H5CHO + CH3COCH3 
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 C6H5CH(OH)CH2COCH3 
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C6H5CH=CHCOCH3  


This reaction is known as:


(1) Aldol condensation 





(2) Cross aldol condensation



(3) The Claisen-Schmidt reaction  





(4) None of these

Q.43
CH3–CHO 
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  CH3CH(OH)CH2CHO In the aldol condensation of acetaldehyde represented above, which of the following intermediate species are obtained ?


(1) 
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(2) 
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(3) 
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(4) All of the above

Q.44
The reaction of acetone with CN– is represented as –
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In the above reaction, which is the fast step:


(1) Step (I)




(2) Step (II)



(3) Step (III)


(4) All steps take place with equal ease.

Q.45
The compounds (A), (B) and (C) in the reaction sequence are given by the set - 
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CH 3   CH 3  

CO  


[image: image403.wmf]Alkali

I

2

¾

®

¾

(A)
[image: image404.wmf]D

¾

®

¾

Ag

(B) 
[image: image405.wmf]2

4

2

Hg

SO

H

+

¾

¾

¾

®

¾

(C)


(1) Iodoform, ethylene, ethyl alcohol.


(2) Iodoform, acetylene, acetaldehyde.


(3) Iodoform, propyne, acetone.




(4) Iodoform, 2-propanol, propanone.

Q.46
In the reaction sequence:


CH3–CCH 
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A, B and C are given by the set -


(1) CH3CH2CHO, CH3CH2CH2Cl, CHI3.



(2) CH3COCH3,
[image: image408.emf]  CCl 3 – C – CH 3  

O  

 , CHI3

(3) CH3COCH3, 
[image: image409.emf]  CCl3–C(CH3)2 
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(4) CH3CH2CHO,CCl3–
[image: image410.emf]  CH – CH 2  

OH  

–CH3, CHI3.

Q.47
Which of the following alkenes is most 
suitable for the preparation butanone by 
ozonolysis -


(1) 
[image: image411.emf] 

 
(2) 
[image: image412.emf] 



(3) 
[image: image413.emf] 

 
(4) 
[image: image414.emf] 


Q.48
Consider the following sequence of reactions


CH3CCH 
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The final product (B) is - 


(1) CH3CCCH3


(2) CH3COCH2CH3

(3) CH3CH2CHOHCH3

(4) (CH3)3 C – OH

Q.49
Cannizzaro reaction does not take place 
with -


(1) (CH3)3CCHO
(2) 
[image: image417.emf] 
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(3) 
[image: image418.emf] 
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(4) CH3CHO

Q.50
In the reaction’


CH3COCH3 + SeO2  P + Se + H2O


the product (P) is -


(1) CH3COOCH3
(2) CH3COOCH2OH


(3) CH3COCHO
(4) CH3OCOOCH3
Q.51
Identify the compounds A and B in the 
following reaction sequence 


(CH3)2C=O 
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(1) A=CH3CO2H, B=(CH3CO)2O


(2) A=(CH3)2C(OH)CN, B=(CH3)2C(OH)CO2H


(3) A=CH3CHO, B=CH3CO2H


(4) A=(CH3)2C(OH)CN, B=(CH3)2C=O

Q.52
The increasing order of the rate of HCN 
addition to compounds a to d is -


(a) HCHO

(b) CH3COCH3

(c) PhCOCH3
(d) PhCOPh


(1) a < b < c < d
(2) d < b < c < a


(3) d < c < b < a
(4) d < a < c < b

Q.53
Predict the product ‘B’ in the seuqnece of reaction 


HCCH 
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(1) CH3COONa

(2) CH3COOH


(3) CH3CHO
(4) CH3CH(OH)CH2CHO
Q.54
Among the following compounds which one will react with acetone to give a product that contains carbon-nitrogen double bond -


(1) C6H5NHC6H5
(2) (CH3)3 N


(3)  
[image: image423.emf] 
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(4) C6H5NHNH2
Q.55
Which of the following is an example of aldol condensation ?


(1) C6H5CHO + HCHO
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(3) CH3COCH3 
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Q.56
The reagent one would choose to transform CH3CH2COCl into CH3CH2COCH3 is 

(1) CH3MgI


(2) (CH3)2Cd
 
(3) (CH3O)2Mg 
(4) CH3Cl
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(Mcq of carboxylic acid and it's derivatives) 

Q.1
Carboxylic acid group can be detected by -


(1) Sodium bisulphite test




(2) Fehling’s solution test 



(3) Tollen’s reagent 





(4) With NaHCO3


Q.2
Acetic acid exists as dimer in C6H6 due to-


(1) Condensation reaction




(2) Hydrogen bonding 



(3) Presence of a carboxyl group 




(4) Presence of hydrogen at -carbon

Q.3
Phenol is a weaker acid than acetic acid because -

(1) Phenoxide ion is better stabilized by resonance than acetate ion 




(2) Acetate ion is better stabilized by resonance than phenoxide ion 



(3) Phenol is less soluble in water than acetic acid 




(4) Both phenoxide ion and acetate ion are equally stable

Q.4
Which of the following is the weakest acid ?


(1) Cl3CCOOH
(2) Cl2CHCOOH 



(3) ClCH2COOH
(4) CH3COOH

Q.5
Formic acid is a stronger acid than acetic acid. This is due to the fact that ?


(1) Formic acid is a reducing agent



(2) Formic acid molecule is of smaller size


(3) There is no alkyl group on -carbon in formic acid




(4) Formic acid does not undergo association

Q.6
The Hell-Volhard Zelinsky reaction is used for preparing a/an -


(1) -Haloacid
(2) -Haloacid 



(3) Acid halide
(4) -Haloacid

Q.7
Identify Z in the following reaction sequence CH3I 
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(1) CH3COOH
(2) CH3MgI 



(3) CH3COCl
(4) ClCH2COOH

Q.8
Kolbe's electrolysis of aqueous potassium ethanoate leads to the formation of –

(1) Ethene

(2) Methane


(3) Ethane

(4) Ethyne
Q.9
Which of the following lacks chirality -


(1) 2-Hydroxy propanoic acid


(2) 2-Aminopropanoic acid


(3) 2,3-Butene-dioic acid





(4) 2,3-Dihydroxy butanoic acid

Q.10
(CH3)2C=CHCOCH3 can be oxidised to 


(CH3)2C=CHCOOH by -


(1) Chromic acid
(2) I2 + NaOH or NaOI


(3) Cu at 300 ºC
(4) KMnO4

Q.11
The acid formed when propyl magnesium bromide is treated with CO2 is -


(1) CH3CH2COOH






(2) C3H7COOH


(3) CH3CH2CH2CH2COOH





(4) None

Q.12
A 
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B. What is not true for A and B -


(1) A is hydrocarbon of general formula CnH2n+2 while B belongs to alkanol


(2) A can be obtained by reducing CH3CH2Cl while B by its hydrolysis


(3) A is alkene while B is alkanal


(4) A and B both belongs to different homologous series

Q.13
The product A, B, C and D in the reaction  
A + B 
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are given by the set -


(1) CO, H2O, CO2, H2



(2) CO2, H2O, CO, H2



(3) CO2, H2, CO, H2O



(4) CO, H2, CO2, H2O

Q.14
Dry distillation of calcium acetate gives -


(1) Acetaldehyde 
(2) Acetone



(3) Ethane

(4) Propanal

Q.15
Hydrolysis of 1,1, 1-trichloro derivative (A) of alkane gives a molecule (B) on alkaline hydrolysis which produces red coloration with aqueous FeCl3. The compound (A) is -


(1) CH3CH2CCl3
(2) CH3CCl3



(3) CHCl3

(4) None

Q.16
Which of the following is the best representation of the structure of the carboxylate ion -


(1) 
[image: image437.emf] 

R–C 

O  

  O  

 – 

 
(2) 
[image: image438.emf] 
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 –  O  

 – 

 


(3) 
[image: image439.emf] 

R–C 

O  

  O  

 + 

 
(4) None of these

Q.17
Which one of the following on oxidation will not give a carboxylic acid with the same number of carbon atoms -


(1) CH3COCH3
(2) CCl3.CH2CHO



(3) CH3CH2CH2OH
(4) CH3CH2CHO

Q.18
Identify Z in the sequence 


CH3COONH4 
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(1) CH3CH2CONH2
(2) CH3CN



(3) CH3COOH
(4) (CH3CO)2O

Q.19
A halogen compound ‘A’ on hydrolysis with dilute alkali followed by acidification gives acetic acid. The compound A is -


(1) ClCH2CH2Cl
(2) CH3CHCl2



(3) ClCH2CHCl2
(4) CH3CCl3
Q.20
Acetic acid is obtained when -


(1) Methyl alcohol is oxidised with 
potassium permangnate




(2) Formaldehyde is oxidised with potassium dichromate and sulphuric acid



(3) Acetonitrile is hydrolysed with a dilute mineral acid





(4) Glycerol is heated with sulphuric acid

Q.21

[image: image442.emf] 

CH3–C–COOH + Br2 

CH 3  

CH 3   red P   
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  [ Product ] The product of the above reaction is -


(1) -Dibromo acid






(2) ,’ - Dibromo acid



(3) ,’,’’-Tribromo acid 





(4) No reaction takes place

Q.22
The rate of esterfication of HCOOH (I), CH3COOH (II), (CH3)2CHCOOH (III) and (CH3)3CCOOH (IV) with ethanol follows  in the order -


(1) IV > III > II > I
(2) I > II > III > IV


(3) II > I > IV > III
(4) III > IV > I > II

Q.23
X and Y in the reaction sequence 


R–CN
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Y, are given  by the set -


(1) Carboxamide , Carbonitrile



(2) Carboxylic acid, Carbonitrile


(3) RCOOH, RCOOCH3





(4) RCONH2, RCOCH3
Q.24
Which of the following organic acid decolourises bromine water as well as forms anhydride -


(1) HOOC – COOH
(2)HOOC–CH2– COOH


(3) 
[image: image445.emf]  H – C – COOH  

H–C–COOH 

 
(4) 
[image: image446.emf]  H – C – COOH  

HOOC–C–H 

 

Q.25
The product A, B and C in the reaction sequence are -
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(1) HCHO, HCOONa, CH3OH


(2) HCHO, Na2CO3, NaHCO3

(3) HCHO, HCOONa, (COONa)2




(4) HCHO, HCOONa, Na2CO3
Q.26
The end product ‘C’ in the following sequence of chemical reactions is –


CH3COOH  
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(1) Acetaldehyde oxime


(2) Formaldehyde oxime


(3) Methyl nitrate


(4) Acetoneoxime

Q.27
Which of the following carboxylic acids 
undergoes decarboxylation easily? 


(1) 
[image: image454.emf]  C6H5–C–CH2–COOH 

O  



(2) 
[image: image455.emf]  C6H5–C–COOH 
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(3) 
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OH  



(4) 
[image: image457.emf]  C6H5–CH–COOH 

N H 2  


Q.28
CH3CH2COOH 
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The compound (B) is -


(1) CH3CH2OH


(2) CH3CH2COCl


(3) CH2 = CHCOOH


(4) CH3 – CHCl – COOH

Q.29
A compound undergoes the following sequence of reactions :


C3H5N 
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(A)


C3H5O2Cl 
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    (B)

(C)


The compound C is -


(1) 1-Nitropropane


(2) 2-Nitropropane


(3) 2-Aminopropanoic acid


(4) 2-Hydroxypropanamide

Q.30
In a set of the given reactions, acetic acid yields a product C -

            CH3COOH+PCl5A
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C Product C would be -


(1) CH3CH(OH)C2H5
(2) CH3COC6H5 


(3) CH3CH(OH)C6H5 
(4) 
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Q.31
In the given reaction final compound (C) is-
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Q.32
Which of the following sets of reagents X & Y will convert propanoic acid into alanine (an amino acid) ?


[image: image474.emf] 
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      X
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(1) Br2

NaNH2


(2) Br2/P

NaOH 


(3) Br2/P

NH3 


(4) Br2/HBr

NaNH2
Q.33
Which of the following has the highest pKa value ?


(1) 
[image: image475.emf] 

O   O H  

   

(2) 
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(3) 
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(4) 
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Q.34
(A), (B) and (C) are three dicarboxylic acids such that -


(A) 
[image: image479.wmf]¾

®

¾

D

 carboxylic acid + CO2  



(B) 
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acid anhydride + H2O  


(C) 
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 cyclic ketone + H2O + CO2   


then : 


 
         (A)
  
 (B)

(C)




(1) adipic acid,    malonic acid,  succinic acid 



(2) Malonic acid,  adipic acid,    succinic acid



(3) adipic acid,     succinic acid,  malonic acid   


(2) Malonic acid,  succinic acid,  adipic acid


Q.35
The identical C–O bond lengths in 
carboxylate ions are due to -


(1) Resonance 






(2) Presence of carbonyl group 


(3) Presence of alkyl group 





(4) None of these 

Q.36
Consider the following sequence of reactions-



[image: image482.emf] 

A  

(i) Mg (ii) CO 2  
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(CH 3 CH 2 ) 2 Cd  
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Identify A, B, C and D :

    
        A
      B
      C
       
D


(1) –F, 
–COOH, 
–COCH3, 
–COC3H7

(2) –CHO, 
–COOH, 
–COCl, 
–COC2H5

(3) –Br, 
–COOH, 
–COCl, 
–COC2H5
       
(4) –Br, 
–COOH, 
–COCl, 
–CHO

Q.37
CH3COCl can react with -


(1) C6H5OH



(2) C6H5NH2




(3) 
[image: image483.emf] 

HO COOH  



(4) All of these

Q.38
Which is the correct statement in regards to CH3COCl -


(1) It is reduced to C2H5OH by LiAlH4

(2) It is reduced to CH3CHO when H2 is passed into it, in the presence of Pd / BaSO4 in boiling xylene


(3) It forms ethyl acetate on reaction with – C2H5OH


(4) All of these

Q.39
The end product in the reaction 

CH3CONH2
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E is -


(1) CH3CHO
(2) CH3COCH3



(3) CH3COOC2H5
(4)(CH3CO)2O
Q.40
The reaction is called 


CH3COOC2H5
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(1) Claisen reduction





(2) Claisen condensation


(3) Bouveault-Blanc reduction



(4) Tischenko reduction

Q.41
The reaction of acetaldehyde in the presence of Al(OC2H5)3 produces -


(1) CH3CH(OH)CH2CHO




(2) CH3CH=CH–CHO


(3) CH3COOC2H5






(4) No reaction

Q.42
An aliphatic carboxylic acid of moleuclar formula C2H4O2 on reaction with PCl5 gives a compound Y. Y when heated with sodium salt of the acid produces-


(1) Ethyl acetate



(2) Ethyl acetoacetate



(3) Methyl methanoate



(4) Ethanoic anhydride

Q.43
The end product in the following series of reactions is -

           CH3COOH
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(1) CH4 

(2) CH3OH 



(3) acetonitrile 
(4) ammonium acetate 

Q44
Among the given compounds, the most 
susceptible to nucleophilic attack at the carbonyl group is -


(1) MeCOOCOMe 
(2) MeCHO 



(3) MeCOOMe 
(4) MeCOCl

Q.45
Esterification is fastest in case of -


(1) CH3COOH 
(2) HCOOH 



(3) CH3CH2COOH  
(4) (CH3)2CHCOOH

Q.46
In a reaction, (A) 
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 C2H5CN (A), (B) and (C) are -


(1)CH3COOH, CH3COONH4 and CH3CONH2

(2)CH3COCl, CH3CONH2 and CH3COONH4

(3) C2H5COOH, C2H5CONH4 and C2H5CONH2 


(4) C2H5CONH4, C2H5CONH2 and C2H5COOH
Q.47
Which of the following esters cannot udergo Claisen self condensation -


(1) CH3CH2CH2CH2COOC2H5 




(2) C6H5COOC2H5 



(3) C6H11CH2COOC2H5 





(4) C6H5CH2COOC2H5

Q.48
Let us consider an esterification of isotopically labelled carboxylic acid -


 
[image: image495.emf] 
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(X) and (Y) respectively are -


(1) 
[image: image497.emf] 

CH3–C–OC2H5 
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; H2O 



(2) 
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O  
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(3) 
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O  

; H2O



(4) both (1) and (2)
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EXERCISE – 1 

AMINES 

Q.1
Compound is a 


[image: image500.emf] 

NH 2   N  

CH 3  



(1)
1º and 3º amine



(2)
Only primary amine


(2)
2º and 3º amine


(4)
Only secondary amine
    

Q.2
The third member of homologous series of dimethyl amine -


(1)
CH3–CH2–NH–CH2–CH3


(2)
CH3–NH–CH2–CH2–CH3


(3)
CH3–NH–CH(CH3)2






(4)
(2) and (3) are correct
  
Q.3
Tertiary butyl amine is a-


(1)
1º Amine
(2) 2º Amine


(3)
3º Amine
(4) Quaternary salt

    

Q.4
Aliphatic amines are ........... basic than NH3, but aromatic amines are ...... basic than NH3 -


(1)
More, less
(2) Less, more


(3)
Both  (1)  and (2)
(4) None of these

Q.5
Suitable explanation for the order of basic character (CH3)3N < (CH3)2NH is -


(1)
Steric hindrance by bulky methyl group


(2)
Higher volatility of 3ºamine


(3)
Decreased capacity for H-bond formation with H2O


(4)
Decreased electron- density at N atom

Q.6
The basic character of amines can be 
explained -


(1)
In terms of Lewis and Arrhenius concept


(2)
In terms of Lowry and Bronsted concept


(3)
In terms of Lewis and Lowry Bronsted concept 


(4)
Only by Lewis concept

Q.7
The number of  bonds present in 
CN–CH=CH–CN -


(1)
5
(2) 4
(3) 3


(4) 2

Q.8
Hinsberg’s reagent is -


(1)
Diethyl oxalate


(2)
Benzyl chloride


(3)
Benzene sulphonyl chloride


(4)
None of these

Q.9
Hydrolysis of alkyl isocyanide yields -


(1)
Primary amine
(2) Tert. amine


(3)
Alcohol 

(4) Aldehyde

Q.10
How many isomeric amines can have the formula C4H11N -


(1)
Five

(2) Six


(3)
Seven

(4) Eight

Q.11
C2H5NH2 cannot be prepared by the 
reduction of -


(1)
C2H5NO2
(2) CH3CH = NOH


(3)
C2H5NC

(4) CH3CN

Q.12
A mixture of 1º, 2º and 3º amine is formed in the reaction -


(1)
1º Amide + caustic potash + bromine



(2)
Methyl halide and ammonia


(3)
Cyclic imide + H3O

(4)
Alkyl isocyanide + H2

Q.13
The presence of primary amines can be 
confirmed by -


(1)
Reaction with HNO2




(2)
Reaction with CHCl3 and alc. KOH


(3)
Reaction with Grignard reagent



(4)
Reaction with acetyl chloride

Q.14
Ethylamine can be prepared by the all 
except -


(1)
Curtius reaction


(2)
Hofmann reaction


(3)
Mendius reaction

(4)
Reduction of formaldoxime

Q.15
Ammonolysis of alcohol, i.e. -


xCH3OH + yNH3 Products


(1)
CH3NH2




(2)
(CH3)2NH2




(3)
(CH3)3N




(4)
A mixture of amines

Q.16
The compound obtained by the reaction 
between primary amine and aldehyde is -


(1)
An amide
(2) Imine


(3)
Nitrite

(4) Nitro

Q.17
Which one of the following behaves both as nucleophile and as an electrophile ?


(1)
CH3CN
(2) CH3–OH



(3)
H2C=CH–CH3
(4) CH3–NH3
Q.18
A primary nitroalkane is treated with nitrous acid, which of the following will be the main product :


(1)
pseudonitrol
(2) nitrolic acid




(3)
a primary amine
(4) a primary alcohol

Q.19
Acetonitrile has the structure :


(1)
C2H5NC

(2) C2H5CN



(3)
CH3NC

(4) CH3CN

Q.20
Which of the following method is generally not employed for the separation of primary, secondary and tertiary amines ?


(1)
fractional distillation


(2)
Hinsberg's method


(3)
Hofmann's method


(4)
Filteration

Q.21
How many primary amines are possible for the formula C4H11N ?


(1)
1
(2) 2
(3) 3


(4) 4

Q.22
CH3NH2 + CHCl3 + 3KOH  X + Y + 3H2O; compounds X and Y are -


(1)
CH3CN + 3KCl


(2)
CH3NC + 3KCl


(3)
CH3CONH2 + 3KCl


(4)
CH3NC + K2CO3

Q.23
HCONHR 
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¾

¾

®

¾

5

2

O

P

  (product) + H2O :


(product) in the above reaction is -


(1)
RCH=NOH
(2) R–N=C=O


(3)
R–CN

(4) 
[image: image502.emf] 

R–NC 
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Q.24
–CONH2  
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In above reaction hybridisation state of carbon changes from .....  ........


(1)
sp  sp2
(2) sp  sp3



(3)
sp2  sp3
(4) sp2  sp







Q.25
Mendius reaction involves the reduction of -


(1)
Cyanoalkanes
(2) Alkyl isocyanides


(3)
Oximes

(4) Nitroalkanes

Q.26
A reaction used in descending a homologous series would be -


(1)
RCONH2 + Br2 + KOH


(2)
RCH2Cl + KCN


(3)
RNH2 + CHCl3 + KOH


(4)
None of the above

Q.27
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 C + D, 
C and D in the sequence are -


(1)
Benzoic acid + aniline


(2)
Phthalic acid + ethylamine


(3)
Phthalic acid + aniline


(4)
Benzoic acid + ethylamine

Q.28
CH3CONH2 
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The functional groups of (B) and (C) respectively are- 


(1) –
[image: image510.emf] 
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–NH2, –NH2
(2) –
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(3) –CN, –NH–
(4) –
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Q.29
On reduction of Schiff’s base we get -


(1)
Primary amine
(2) Secondary amine


(3)
Anils

(4) Anilide

Q.30
Alkyl halide reacts with AgCN to form -


(1)
Alcohol 

(2) Cyanide


(3)
Isocyanide
(4) Both (2) and (3)

Q.31
Amide on heating with P2O5 gives -


(1)
Alkane nitrile
(2) Alkyl halide



(3)
Amine

(4) None of these

Q.32
Grignard reagent reacts with cyanogen chloride to form -


(1)
Alkane nitrile
(2) Alkyl halide



(3)
Amine

(4) None of these

Q.33
The IUPAC name of CH3NC is -


(1)
Methyl isocyanide


(2)
Methyl isonitrile


(3)
Methylcarbylamine


(4)
Carbylamino methane

Q.34 
Ethyl iodide on reaction with potassium nitrite gives -


(1)
Ethyl nitrite 
(2) Nitro ethane


(3)
Amine

(4) Acid

Q.35
Which of the following is optically active amine-


(1)
CH3NH2




(2)
CH3NHCH3




(3)

[image: image514.emf] 
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(4)
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Q.36
Which of the following would undergo Hoffmann bromide reaction to form primary amine-


(1)
RCONHCH3
(2) RCOONH4



(3)
RCONH2
(4) RCONHOH

Q.37
Which of the following will give primary amine on hydrolysis -


(1)
Nitroparaffins



(2)
Alkyl cyanide


(3)
Oxime


(4)
Alkyl isocyanide
Q.38
The alkanenitriles are isomeric with-


(1)
Primary alkanamines


(2)
Secondary alkanamines


(3)
Alkyl isocyanides


(4)
Nitroalkanes

Q.39
Which of the following is obtained by reducing methyl cyanide with Na + C2H5OH -


(1)
Methyl alcohol
(2) Acetic acid



(3)
Ethyl amine
(4) Methane

Q.40
Ethylamine can be prepared by the all except -


(1)
Curtius reaction


(2)
Hoffmann reaction


(3)
Mendius reaction


(4)
Reduction of formaldoxime

Q.41
Which of the following compounds possesses a chiral nitrogen atom ?


(1)

[image: image516.emf] 

CH3CH2CHCH3 

NH 3  



(2)
CH3CH2NHCH2CH3 



(3)
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CH3CH2CH2NCH2CH3 

CH 3  



(4)
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CH3CH2NCH2CH3 

CH 3  


Q.42
The IUPAC name of the following compound is 


[image: image519.emf] 

N  



(1)
N, 3-dimethyl-N-propyl-3-propanamine


(2)
N-methyl-N-propyl-2-butanamine


(3)
s-butylmethyl-n-propylamine


(4)
 N, 1-dimethyl-N-propyl-propanamine

Q.43
The end product (B) formed in the reaction


CH3CH2Br
[image: image520.wmf]¾

¾

®

¾

AgCN

A
[image: image521.wmf]Å

¾

¾

¾

¾

¾

¾

¾

®

¾

O

H

heat

prolonged

,

NaOH

.

1

3

B is -


(1)
CH3CH2NHCH3
(2) CH3CH2CH2NH2

(3)
CH3CH2NH2
(4) CH3CH2NHCOH 

Q.44
The major product formed in the reaction is -
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(1)
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(2)  
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(3)
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(4)
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Q.45
The end product (B) formed in the reaction


CH2=CH2 
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(1)
CH2=CHCH2NH2



(2)
H2N(CH2)4NH2



(3)
CH3NH(CH2)2NHCH3

(4)
NC(CH2)2CN 

Q.46
Among the following compounds which one will produce a Schiff base on reaction with cyclohexanone ?


(1)
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N  
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(2) 
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NHCH 3  



(3) 
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NH 2  


(4)  
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N(CH 3 ) 2  


Q.47
The possible product formed in the reaction
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(1)
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OH  

 
(2)  
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(3)
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(4) All of these

Q.48
Consider the following sequence of reactions
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The major product (B) is -


(1)
CH3CH2CH=CH2



(2)

[image: image541.emf] 

CH3CH2CHCON(CH3)2 

CH 3  



(3)
CH3CH=CHCH3


(4)

[image: image542.emf] 

CH3CH2CHN(CH3)2 

CH 3  


Q.49
A compound (X) having the molecular formula C3H9N reacts with benzenesulphonyl chloride to form a solid that is insoluble in alkalies. The compound (X) is -


(1)
CH3CH2CH2NH2
(2) (CH3)2CHNH2

(3)
CH3CH2NHCH3
(4) (CH3)3N
Q.50
Consider the following sequence of reactions

X(C3H9N) 
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The compound (X) is -


(1)
CH3CH2NHCH3
(2) CH3CH2CH2NH2

(3)
(CH3)2CHNH2
(4) (CH3)3N 
Q.51
The product (A) and (B) of the reaction


CH3CH2NH2 + CH3MgBr  A + B


are -


(1)
CH3CH2CH3 and NH2MgBr


(2)
CH3CH2NHCH3 and MgBr2

(3)
CH3CH2N(CH3)2 and MgBr2

(4)
CH3CH2NHMgBr and CH4

Q.52
Which nitrogen is protonated readily in guanidine
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3

(4) All of these

Q.53
Which of the following is most basic ?


(1)
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NH 2  


(2) 
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N  



(3)
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(4) 
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N  
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Q.54
In carbylamine reaction :


(1)
the nucleophile is a RNH2 and electrophile 
is : CCl2

(2)
the nucleophile is primary amine and electrophile is 
[image: image550.wmf]-

3
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(3)
the nucleophile is : CCl2 and the electrophile is primary amine 


(4)
the attacking reagent is electrophile

Q.55
Which one of the following will not react with the Grignard reagent (C2H5MgBr) ? 


(1)
C2H5–NH2
(2) 
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(3)
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C 2 H 5  

C2H5–N 
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(4) CH3–
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Q.56
One mole of an amine (A) consumes two moles of methyl bromide to give a quaternary ammonium salt. The amine (A) is -


(A)
(CH3)3CCH2NH2
(B) (CH3)2NCH2CH3


(3)

[image: image554.emf] 

N  

H  

 (piperidine)
(4) 
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N  

  (Pyridine)

Q.57
(A) 
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(B) 
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(A) and (B) respectively are -


(1)
RNC, RNC
(2) RCN, RCN



(3)
RCN, RNC
(4) RNC, RCN

Q.58
CH3CH2NH2 contains a basic NH2 group, but CH3CONH2 does not, because :


(1)
Acetamide is amphoteric in character


(2)
In CH3CH2NH2 the electron pair on 
N-atom is delocalised by resonance


(3)
In CH3CH2NH2 there is no resonance, while in acetamide the lone pair of electrons on 
N-atom is delocalised and therefore less available for protonation


(4)
None of these

Q.59
The reaction 
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is called -


(1)
Cope reaction
(2) Ritter reaction


(3)
Schmidt reaction
(4) Gabriel's reaction

Q.60
The major organic product in the reaction is


H2NCOCH2CH2CONH2 
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(1)
H2NCO(CH2)3NH2

(2)
BrNH–CO–(CH2)3–CO–NH2

(3)
BrNH–CO–(CH2)3–CO–NHBr


(4)
H2N(CH2)2NH2
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